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1). What is the full form of ALU? | ALU d JUI &U &1 3{Tg?

(A) Allowed Logic Unit
(B) Ascii Logic Unit
(C) Arithmetic-Logic Unit

(D) Arithmetic Least Unit

Correct Answer : C

2). What is the first action to be taken incase of an electric shock? | ICRE
YTHT AN U] JUYH BT HRATS H?

(A) Call to doctor | Slac= Pidl DRI

(B) Take'support to others | SAR=T 3MUYR &I

(C) Switch OFF the electric power | Eﬁm UiaR §¢ B0
(D) Call to ambulance | SUEIEH AT Bid DA

Correct Answer : C

3). What is the full form of ABC in first aid? | UTYiHdh SUARTA ABC %[EUT
7 BT 3ATe?

(A) Anyway, Breathing, Circulation
(B) Airway, Breathing, Circulation
(C) Anyway, Blood, Circulation

(D) Airway, Blood, Chest

Correct Answer : B
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4). Which factor influences the severity of electrical shock? | fa—c{ﬂ?[
AT diddar BV geeh YHTd TThal?

(A) Very low DC voltage | U FHHI DC Flecsl

(B) Duration of current passing | P3¢ vl gl Hramash

(C) Level of current in micro ampere | J&H 3ffYeRUS FHe YdTgr uraed!
(D) Person receiving the shock | Qi SYUMRT et

Correct Answer : B

5). What is the purpose of expansion slot in mother board? | HaX oA
IR Wledl/Taur=H Wiicdl 3611 BRI 3Tg?

(A) To insert the RAM | RAM HTCIUTTRITS!

(B) To insert the mouse | AT3Y UTCTUIIS

(C) To insert the keyboard | PSS GTAvITITA

(D) To insért the additional peripherals | 3ffcif¥e Uf¥theed aTavaTEIST

Correct Answer : D

6). What is the main cause of CMOS check sum error during boot up? |
§C 30 G- CMOS T TH TR T J&T HRUT WISTeieh! PHIvId 3HTa?

(A) Bad power supply | dISTURAST WRIS 37

(B) BIOS needs updating | BIOS il 3UST HRUI AT 38
(C) CMOS battery is near to end of life | CMOS ¥eid ST JUUATAT T 318

(D) Faulty hard drive | E@@%W 318

Correct Answer : C

7). Which is an internal power supply unit of CPU? | CPU A Sed Ta”


javascript:void(0)
javascript:void(0)
javascript:void(0)

e,n% Page 3
W{égﬁ—c’ﬁvﬁr ?

(A) CVT

(B) UPS

(C) SMPS

(D) Stabilizer | TdIdER

Correct Answer : C

8). In which sequence computer operates? | U 0T v g
+ DBTH DA

(A) Input, output, process | g79c, 3T3cYc, IS
(B) Input, process, output | $YC, I Rap: 8 3I3cyc
(C) Process, input, output | Uy, 219c, 3{3cYc

(D) Output, process, input | 3T32Yc, U, g1Yc

Correct Answer : B

9). What are the two tyges of graphical terminal? | b d efHd HIoTaT

2 YhRId fa

(A) Vector and Raster mode | ey ATOT IRER AIS
(B) Input and Output mode | g79c 3rfor GHBEHE’%
(C) Text and Dumb | TRe 30T €T

(D) Dumb and Intelligent | U Grl'lﬁfsé’ﬁﬁﬁ'

Correct Answer : A

10). How does parallel port transfer a byte? | U¥dd Ui Sl Y I
?

_______ (A) _Bit by bit | BB U S,
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(B) 2 bits at a time | U1 a1 2 fae

(C) 4 bits at a time | U1 A1 4 focH
(D) 8 bits at a time | THT dot 8 faed

Correct Answer : D
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NIMI Mock Test

1). What are the correct steps for deducting the pendrive when inserted?
| [ISIome U9 S13ee SR YT SI1d T9d ok JUh| B HRId?

(A) Right click on USB root hub > disable device
(B) Right click on USB root hub > enable device
(C) Right click on USB root hub > scan for hardware changes

(D) Right click on USB root hub > Update drives

Correct Answer : B

2). What type of device is a scanner? | TR DIV UHRA STHI[ 3HTg?

(A) Processing Device | TR fSed
(B) Internal Device | Scdd fo@gsy
(C) Output Device | 3T3cYc fegEH

(D) Input Device | 39Yc fe@Ted

Correct Answer : D

3). How can you switch between open windows from one window to

another? | 34U 3iu+ fdeiomed o3 fga e Qdhdl?

(A) Ctrl + Alt
(B) Ctrl + Tab
(C) Alt + Shift

(D) Alt + Tab

Correct Answer : D
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4). What is the order of files and directories in Windows Explorer? |
ECEISRESENIN gak23) I d WSl v H hd] 3RdI?

(A) Serial | J31ell

(B) Sequential | Rren=itaret

(C) Hierarchical | BRIRRAIHdl
(D) Alphabetical | S/@FTdE Il

Correct Answer : D

5). Which shortcut key is used to open start menu? | Eﬁﬁiw
ATUR T ST Qicdhe hia Ard 2L,

(A) Windows Logo | fasis @

(B) Ctrl

(C) Shift

(D) Alt

Correct Answer : A

g)“% What is the extension of Notepad file? | AlcUS WIgcrdl URICHRM B
?

(A) fil
(B) .dil
(C) .doc

(D) .txt

Correct Answer : D

7). Where do pinned application stay in Windows OS? | O Sheian
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VIR fdSIeT OS & HIS Adl?
(A) Desktop | S&hcly
(B) Notification Area | AIfCWhIbR TRAT
(©) Title bar | €T¢ §e7
(D) Task Bar | TR® R

Correct Answer : D

8). Which control panel applet gives information about the computer? |

el dTaqdid v Tele omexd! Alfgd! ad?

A

(A) System and security | Ry ofs ﬁﬂ:ﬂ'ﬁ?ﬁ

(B) Hardware and sound | a-éé&r{ IS IdS

(C) Programs | UrIH

(D) Appearance and personalization | 3ffieRy 38 TR

Correct Answer : A

9). Which shortcut key refresh Windows desktop? | fdeisl Sxhery Rbw
PRUGMIST TR Qicdhe bia A1d L.

(A) F1
(B) F3
(C) F5

(D) F7

Correct Answer : C

10). In which icon deleted files and folders are found? | gcadedl BIscd
3TIOT BhiceR AuS el SAhIaT 1 1.

_______ iAlMyComputerlrﬂﬁTW
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(B) Recycle Bin | SIa®d fo=

(C) Microsoft Edge | ATIDIEITE TSI
(D) Google Chrome | T[T e

Correct Answer : B

11). Which port socket uses 25 pins in the computer? | Y CARINECALUR|

UI¢ Gl 25 U amaRa?

(A) Parallel Port | RS Ui

(B) USB Port | guds UIc
(C) Network Port | dcdd Uic

(D) Serial Port | g oé

Correct Answer : A

12). Which control panel is used to change the system date? W
Uaqeic gere Ad GRT SATgR AU e adt EL

(A) User Account | IoR 3{hT3C

(B) System |ﬁ|€'ﬁf

(C) Date and Time | aIRRa 3fr 3o
(D) Fonts | Bi<

Correct Answer : C

13). What type of copy is produced by printer? | TeRgR ST Yh R
DU TIR Bl ST?

(A) Hard Copy | BTS ®IUl

(B) Soft Copy | Iite HIdt
(C) Scan Copy | T+ Iyl
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14). What is the name of the tool in control panel is used to adjust your
computer setting with voice command? | cbdlc1 Jaaaetd cad Ara gim o
Ry HHISHE YU AT JHRARTT HRUGTETST aToRa Sd?

(D) Xerox Copy | SRIT HIUl

Correct Answer : A

(A) Ease of access | dgvl U

(B) System and security | e Gﬂﬁfﬁ?&ﬂ

(C) Appearance and personalization | 3SR Gﬂﬁ[ﬁﬁﬁﬁl’?ﬁ
(D) Hardware and sound | BTSSR 30T TS S

Correct Answer : A

15). Which is an.example for OS? | U DIV OS o ISTEUT 3Te?

(A) Antivirus | ST¢T@RRY
(B) Windowslﬁ'@'ﬁ\_ﬂ

(C) MS Office | THUY Iy
(D) Macromedia | HepIfHfSal

Correct Answer : B
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NIMI Mock Test

1). What is the purpose of Nero Start Smart? | ﬁﬁww
DTS Bl STl

(A) Format HDD | HDD W&{Ud &Rl

(B) Burn CD/DVD | & CD / DVD

(C) Format pen drive | m@%ﬁﬁ?w
(D) Format CD/DVD | CD / DVD HIRHC 31

Correct Answer : B

2). What should be done after installing a new applicationina
computer? | TETEN YHW fRIHRUN AR fohal Tdi- Sifweieb I SETe
BHAFR fehdl TUIBTHE BIFBIRA Hedl-ax B HRIA?

(A) Hibernate | SISRAC
(B) Shutdown | RICSTHA
(C) Sleep | iy

(D) Restart | e

Correct Answer : D

3). What is BIOS? | BIOS &1 31Tg?

(A) Firmware | HHISR
(B) Hardware | aéé&r{
(C) Middleware | TISTdsR
(D) Software | IIHEd3R

Correct Answer : A
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4). What do statistical analysis packages have much in common with? |

giRT® 1 [AReUT UdborHed BT I 31572

(A) Presentation packages | a@%ﬂqf@ﬁm
(B) Spreadsheet packages | eyl Yhoid

(C) Design packages | f$3Ts+ Udhol]

(D) Paint packages | Ue Udbord

Correct Answer : B

5). Which software interfaces the major hardware components of the
computer with the 0S? | OS T8 I AT THT BTSd3R Y[ BV
ISR SCIBY HRd?

(A) BIOS
(B) DOS
(C) POST

(D) CMOS

Correct Answer : A

6). Which virus infects important files of the application software? |
BIRY U3 T dS$RAT Hewledl BIgeddl HshiHd hdi?

(A) Macro Virus
(B) Trojan Virus
(©) Worm Virus

(D) Anti Virus

Correct Answer : A
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7). What is the process of deleting all the data on the hard drive? |
gIS (S aiId U4 STeT T T UaTTa! AU BT HRdld?

(A) Delete | fegile

(B) Erase | 3Xf

(C) Formatting |U°'\IJ'~!'fIJ'cﬁ?T
(D) Uninstall | A5l

Correct Answer : C

8). Which system is used by Bluetooth for Broadcasting? | @g‘qaﬁf
TRIRUl HRUAIATS! AT T aTuRe SiTel?

(A) Satellite | 3U¥e
(B) Microwaves | HAghIdeg
(C) Telephone lines | %?ﬂuﬂ:raﬁ‘—r

(D) Radio waves R’%Gﬁ G?ﬂ

Correct Answer : D

9). Which port is use to connect monitor to CPU? | gifHex Sreudra!
a%w AR el STl

(A) PS2

(B) Parallel port

(C) LAN

(D) VGA

Correct Answer : D

10). What is the capacity of a typical DVD? | DVD 9] &HdT fobdl 3a?
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(A) 40 MB

(B) 50 MB
(C) 60 MB

(D) 4.7GB

Correct Answer : D
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NIMI Mock Test

1). Which linux command is used to copy the context from one file to
another file? | TT BRAHYT g & dg HIUl HUIRITST HIvr
[T HHIS ATURT! SiTd?

(A) cp
(B) mv
(©) hard links

(D) soft links

Correct Answer : A

2). Which character redirects output into an existin file in Linux? |
fo TR e S cycel T gﬂ%ﬁﬁ?ﬁ
DIV DHYKR TUR STTd?

(A) >
(B) >=
@ <

(D) <<

Correct Answer : A

3). What is the full form of FSF? | FSF %[tI;UfWW 3Tg?

(A) File Server First
(B) Free Software File
(C) Free Software Foundation

(D) First Software First

Correct Answer : C
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4). What are the directories under the root directory are called? | ¥c

fo¥aei=an 3idvid fevaesiorT o1 e Siid?
(A) dir
(B) path

(C) sub directories

(D) tree

Correct Answer : C

5). Which software coding is freely available on the internet and open

?n%u;%for further useﬂa‘%a W@@Ei’[ AR Hﬁ?‘l’qﬁf SUds

(A) Unlicensed software
(B) Open.source software
(C) Free software

(D) Community software

Correct Answer : B

t6{%._(!Which character represents parent directory in Linux? | for g aed
f&¥ae) griquardl forg aToRdTa?
A) .

(B) ..
€ ~
() *

Correct Answer : B
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7). Which file name matches the command DIR????T.TxT in DOS? | DIR

2222T.TxT HHTSIT DOS T AT T PIUIA T4 S[e51?

(A) TIME.TXT
(B) TEXT.TXT
(C) TEMP.TXT

(D) TEMPT . TxT

Correct Answer : D

8). Which command remove files in Linux? | DI HHIS Hiecd hlg-
TORET ST

(A) delete
(B) rm
(©) dm

(D) erase

Correct Answer : B

9). Which DOS command lists all .com files in D drive? | D @ﬂﬁq%ﬂﬁﬂﬁ
DI B Yaldg BRGNS DIV DOS HHIS dURe! STd?

(A) DIRD :\ com

(B) DIRD:\com.*

(C) DIRD:\*.com

(D) DIRD:\*com*

Correct Answer : C

10). What is the first option of the KDE desktop in Linux? | fer el KDE
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SWHelUdl Uledl Ui HIUIdT 3M1g?

(A) Preference | UH3Yg

(B) Application | SfeRrper

(C) System | Rr&eH

(D) System setting | ey afen

Correct Answer : B

11). Which is a wildcard character? | ATCTS U] A1 68 BTs 3HeR HIUN?

(A) *and/
(B) ?and/
(C©) *and?

(D) ?and @

Correct Answer : C

12). What is the full form of OSS? | 0SS d JUI ¥4 H1I 3(Tg?

(A) Open System Service
(B) Open Source Software
(C) Open System Software

(D) Open Synchronized Software

Correct Answer : B

13). Which character represents a range of values in Linux? | feraaTed
DI &R AU SITd?
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© {1}

(D) < >

Correct Answer : B

14). Which is open source software? | WU DT 3T TR
3R ATET?

(A) Open Office
(B) Windows 10
(C©) MacOs

(D) Microsoft Office 365

Correct Answer : A

15). Which of the following is an advantage of open source software? |

39T IR St dsran DIVl BRG] 3T5?
(A) Edit and customize the source code | E[l%:f I Big PICHIGOI HIUTTO! Q‘%E’ hE
b dl

(B) Need an expert to edit code | AR Q%E WWW 31Ul 3TaTH &H%
(C) Have to pay | T X TTd ARTAIC
(D) Generic for specialist purpose | ®TaIdcs] faRINR BT U T 3R b

Correct Answer : A
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NIMI Mock Test

1). Which is a default document type for a ma|I merge? | A Holal
PHIUT SIhlee SIOI'{iJ-IC AD IR

(A) Data
(B) Labels and list
(C) Letters

(D) Set

Correct Answer ;: C

2). Which command stores the active document permanently? | Ufdcg

SlpUe/BIEd HIHESU! UEd HRUINTS! HHIS dTURC] Sa?

(A) Save
(B) Send
(C) Prepare

(D) Save as

Correct Answer : A

3). What is the purpose of Shift+Ctrl+N in Open Office? | Open Office
A Shift+Ctrl+N 1 352 B 3MT6?

(A) To create a new document | 94 SihHE TIR Hd.

(B) To open a document | U SihHc Y.

(C) To open templates and documents dialog | ¢IdAe 3T Siwde Halg 3usd
(D) To exit an application | ST =M TR gsdl.

Correct Answer : C
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Q%Which is a step of merge process? | WU HIvTdT ol fshadT e
?

(A) Preview the merge results | faeii-ii@<ur uRoma yafaeis o1

(B) Set margin of the document | o qugﬁ'c HIRHC DRI

(C) Format data source | Scl Iid BIRHE B

(D) Remove data sources | QET@HWW

Correct Answer : A

5). How are individuals in a table referred to as? | caauefe kT
(individuals) Y Heedl W2

(A) Cells
(B) Boxes

(C) Rows

(D) Columns

Correct Answer : A

6), Which shortcut key prints a document? | SIRIHC BTYUATHIS] HI0T!
Qe Bi AR SITd?

(A) Ctrl +V
(B) Ctrl + X
(C) Ctrl+ P

(D) Ctrl +B

Correct Answer : C
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) B 3T5?

(A) Document formatting | SIdhHC WIATCT
(B) Mail merge | ad A
(C) Database management | STEY HAGTHC

(D) Form letters | BiH dlcd

Correct Answer : B

g Which document view resembles the ap earance of a web browser? |

SIRJHC YA dd SR JRW[ ¢4

(A) Draft view | The ogd

(B) Outline view | 3T3cAgd &4

(C) Web layout view | 9§ @313¢ &d
(D) Full screen reading | Waﬁqﬂﬁm

Correct Answer : C

9). Which option is used for tab setting? | ¢q T8 Sivrar gar
qTORET STl?

(A) Horizontal ruler | ﬁ'\ﬁ%ﬂ?ﬁ T
(B) Status bar | ¥ §R

(C) Vertical ruler | Bcidhd ¥aR
(D) Vertical scroll bar | %ZPWWW

Correct Answer : A

10) How cané[ou ms:f;t a audio file in your word document? | EP%)[@TI?CIT
TS 3N HIge B P> R[hdl?

Contact - 9370948482, 8055403224, 9325721873


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 22
(B) Insert > file menu option

(C) Insert > object menu option

(D) Insert > blank menu

Correct Answer : C

11). Which bar contains the current position of the cursor in MS Word? |
MS Word T FHRa dad (I HIUKkT IR gRidd?

(A) Layout | A3T3€

(B) Title bar | CRICH AR

(C) Status bar | ey TR

(D) Horizontal ruler | EWE?I R

Correct Answer : C

12). Which rectifies typing error? | TS IUTT R TR ?ﬂﬁgw&am
qfiel?

(A) Auto entry | 3icl U<t
(B) Auto add | el 318
(C) Auto spell | 3ffel Wd
(D) Auto correct | 3fTcl BT

Correct Answer : D

13). Which is a text styling feature of MS Word? | MS Word %Wﬁ?ﬁ
R/ dae wiRd eI Uh! HI0d 31Tg?

(A) Word fill | 98 ®Id

(B) Word art | I8 AT

(©) Word coIour|T€fW
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(D) Word font | TS BiT

Correct Answer : B

14). What is the purpose of quick access toolbar? | B TRy ccldiR/

IYUS T 36 B 3Hg?

(A) To hold advance function | GTSOGTH A= YRUT HRUITO!

(B) To hold special function | foRIY B YRU HRUGHTS!

(C) To hold basic function | IIFT%WF[ RUT UGS

(D) To hold familiar and repeated function | TRTId ST YRR W= €RUT
HICIRITS!

Correct Answer : D

15). What is the correct scale of document for printing? | BURHS!
SIRIH T JHTT fahdl 3Tg?

(A) Set ruler options for the text | FIG!WTOPI S TS T 3T

(B) Level of English used in the text | TSIBRIcIe SUSI ATURTH! AIdo! 3l

(C) Zoom of the text | AN S 318

(D) Printing in the different proportional size to the document | sﬁ’aqﬁmfim
YHTONTT THRIA flie Heot

Correct Answer : D

16). Which key copies the selected items in open source office? |

fgSciedT a% U= I SIthaHed HIUT HRUITS! HIUNT BT AU ofl?

(A) Ctrl + O
(B) Ctrl + C
(C) Ctrl+P

(D) Ctrl + Shift + C
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Correct Answer : B

17). Which list is used to create multiple copies of a document in a mail

merge? | AT HoHY GV 3H® Ud! TR HRUANITS! HIOTT It

?

(A) Main document | B9 SiagHe
(B) Data source | Serard

(C) Form label | BiH tiad

(D) Database | Scey

Correct Answer : B

18). Which MS word tab has access to mail merge options? | R
Tl TaR1 HRUARITS! Jhel THUY JeHed PIUMT ¢d auRIe?

(A) Inserttab | ET\EI_Cc cq

(B) References tab | Y=1 ¢
(C) Home tab | gF cd

(D) Mailings tab | Afeeq

Correct Answer : D

19). Which shortcut key center aligns the selected text in MS Word? | MS

ge A Masdl Hoihx HEHF SaUIRIT3! BIUK [Iche P aTaRal Sld?

(A) Ctrl + C
(B) Ctrl +D
(C) Ctrl +E

(D) Ctrl +F
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Correct Answer : C

20). What is the purpose of gutter margin? | TTex HIoIaT &3 BT 3g?

(A) Added to left margin when printing |IIT%TT-[@T H&UT HdTHT STl A Sed S
(B) Added to right margin when printing | AT of HaUT oA 3oioAT TIfoHAed Siied S

(C)._Added to binding side of page when printing | FfS Sft 50T a1 ggT=Al
grssdr SIS vaTd dd

(D) Aél%ed to the outside of page when printing | AT S J&UT ST GSTAT STeXId STod

21). When-do you use the formula =SUM() in a table? | ﬂ@éﬁlﬂﬂ?ﬁ
=SUM() 131 G St araRdr?

Correct Answer : C

(A) To count entries | Wﬁmﬁ

(B) To add numbers | HHIP STISURITS!

(C) To multiply numbers | WWW
(D) To divide numbers | T fayTiord Hruararat

Correct Answer : B

22). Which key is used to insert a tab at the gtargof a header in
o§eno$ce? | ST IS TEIAT GFaldidl ¢d SI¢ HIVIRIS!

IGK

(A) Ctrl + Shift
(B) Ctrl + Alt
(C) Ctrl + Caps

(D) Ctrl + Tab
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Correct Answer : D

23). What is the purpose of cover page? | HAUYSII 3 DY 3ATg?

(A) Allows to fill title, author and date | Y&, a@®, ARG 3foT 3a= wifg<! HRvaTH
WA 2

(B) Fills list of people intent to mail | ﬁaw%wm%qwacw SICAECIRIG]
(C) To view the mailed list | i foRe UTGURITAT
(D) Contains details of the documents | S’T?ﬁ?.’?ﬂ JURNE FHIAY 3Tal

Correct Answer : A

24). Which displays the name of the active document? | ﬁfm G}IJTQ_C'/
WIgerd H1d $I6 fagd?

(A) Title-bar | STUEH IR

(B) Task bar | €Rh dR

(C) Menu bar | L8R

(D) Status bar | €9 dR

Correct Answer : A

25). Which term refers to the process of combining two or more cells to

make one? | PIUTc! T &I febal 31feie URN U e Ueh S-IquaTedl
Ufora gfed HRa?

(A) Combining |5|°—\|Jﬁ|§ﬁm
(B) Joining | SIEGH

(C) Merging | Afsfr

(D) Creating | 1T
Correct Answer : C
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NIMI Mock Test

1). Which box is present in Pivot Table fields list? | fUcgic ¢ad Wit

A WTelTete! HIvrdT died Tal?
(A) Column Labels | HITH AT
(B) View | ROl ftheex

(@) Layout|%\l@
(D) Formulas|tl'fll'lij?|m

Correct Answer : A

2). Which chart shows the proportions of how one or more data
elements relate to another data element? | Udh fdar 31w Scrded ASRI]

ST UCHIRI Y JaTd SHTed T THTOT el TRl B TUKan?

(A) XY Chart | XY ¢
(B) Pie Chart | UTs @1
(C) Line Chart | as‘rr%n'é

(D) Column Chart | PHIH TS

Correct Answer : B

3). Which setting is modified to print a worksheet in letterhead? | NG
WWWWE@%W%QW grfger?

(A) Paper | ®Tq
(B) Margin | AT
(C) Layout | W3MT3<

(D) Orientation | 3RUCTH

Correct Answer : B
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4). Which option inserts a Pivot Table? | HIUTT TaHE SHTIOT HIVIAT TR
U TRTdT [URIE cad graudral uay fHea?

(A) Formula Tab- Data Analysis Group | Lh\IJH;J:ﬂl <q- gl fawyur e
(B) Insert Tab - Tables Group | ET\‘TLP eq - A T

(C) Data Group in the Pivot Table Group | H@WW@HW
(D) Data Group In the Tables Group | %a’agqmﬂﬁéagq

Correct Answer : B

5). Which tab is used to access the What-if Analysis Excel tools? | What-if
Analysis Excel ST YA HRUATS] Tral DIUIT o fecids BhrIcl?

(A) Home Tab
(B) Insert Tab
(C) Pay Layout Tab

(D) Data Tab

Correct Answer : D

\_6I|)1.?rHow cells are named in MS Excel? | MS Excel T ged A9 oY fad
?

(A) Alphabetically | avﬁawnﬁ

(B) Numerically | SATHB ]

(C) Alphanumerically | 31&Ri®
(D) Special Character | fa=I¥ 3f&R

Correct Answer : C
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P T faRayur Jreq gatay 3Me?

(A) Goal Seek | M Ri®
(B) Scenario | RFRSM
(C) Trendline | ¢SargA
(D) Solver | Jfee?

Correct Answer : A

8). Which function key opens save as dialogue box in'MS Excel? | MS
Excel Y ¥og 1Y SAANT J1cR] SUSUATITS! b0 el ehi dIucl Sild?

(A) F2
(B) F5
(C) F7

(D) F12

Correct Answer : D

9). Which fungtion counts the number of cells that contains numbers in a
range? | S0T/3ST ALY TREAT 31 cied] Yeerel! AT
R dIuR bl SITdl?

(A) Count()
(B) Countif()
(€) Sum()

(D) Sumif()

Correct Answer : A

10). Which Excel tab is used for importing, outlining and subtotalling the
data placed in a worksheet data list? | agEZ“EECII Sl AU dadial sl
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OIS/ AT B0, B DI, SRR/ IS B0 FCled B0 AT BRIl
Excel AEE SHIUMAT <& QTR Sildl?

(A) Formula|th_\IJ1§IT*|T
(B) Data | ST

(© Review|ﬁ§_q’
(D) Insert | ST9C

Correct Answer : B

11). What is the extension of files created in MS-Excel 2007-2016? | MS-
Excel 2007-2016 A% IR dHcledl BIaRIdl [dWR ST 3ig?

(A) XLX
(B) .XLSX
(C) XLS

(D) .IXT

Correct Answer : B

12). What is the maximum limit of rows in MS Excel 2010? | MS Excel

2010 T I T FHHTA HIfeT B 3M1R?

(A) 1084567
(B) 1048567
(C) 1048576

(D) 1084576

Correct Answer : C

13). In which application data validation is used? | 10T YRIBIHS
ST JHTUNHRUT ATORd STT?
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(A) MS Excel

(B) MS Word
(C) MS Power Point

(D) Paint

Correct Answer : A

14). Which ribbon menu displays the Page Setup grouping of
commands? | S0l Req U 05 A3U HHS SRIAd?

(A) Insert | S¢
(B) Layout | @3T&He
(C) Review | Rz,
(D) Home|BH

Correct Answer : B

15). Which is the best spreadsheet method that prints and fits all the
columns in one page? | 4 WSMe TGd DU 318 GﬁWWﬂﬁc
Y gfad Hd AT fihe HRa?

(A) Manual scaling
(B) Set scaling to 'Fit sheet on one page’
(C) Page Layout — set width to 1 page

(D) Insert — Header and Footer

Correct Answer : C

16). Which type does Portrait and Landscape belongs to? | qﬁ:_c' 3{Tfor
IS U § GIF UHR HIU?

(A) Page Margins | O Ao

....... (B).-I?age.Arrangemenislﬁﬁ.?ﬁﬁﬁf_-----------------------------------------------
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(C) Page Orientation | U SNREe=H

(D) Page Breaks | Ul b

Correct Answer : C

17). How to insert chart in MS Excel? | THTY-TGId HeH TTC HAT CIHIIEN?

(A) Home Tab-Cells | B c9-I

(B) Insert Tab-Charts | o | I |

(C) Data Tab- Data Tools | §cl cd- Scl gigH

(D) Formulas Tab-insert Function | qv—\IJT{‘iﬂT ¢9-39¢ HhaRH

Correct Answer : B

18). Which view.in excel displays the pages exactly as they appear while
printing? | TRIGHTA Hiurd €29 flie EI;L(UW CEASE]
cRaddld?

(A) Custom View | #¥%cH fegd

(B) Full screen View | ¢ ThiH Iro\E;d
(C) Page Break View | UST s foga
(D) Page Layout view | IS @i3i3¢ f@a

Correct Answer : D

19). Which chart displays data that changes over a period of time and
compares various items? | TTHIUTAT TIC BRI HIATFUd TGAURT STl

Srgdd! 31or fafdy o=t gorr drar

(A) Column Chart | HIH ¢
(B) Bar chart | IR T1e
(C) Areachart | TR e
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(D) Doughnut chart | SiHe a1

Correct Answer : A

20). Which type of chart is used in MS Excel? | THTY TRTH e 1ol
ApIxd| dic qlyxd vild T-FI?:[?

(A) Bubble | 99
(B) Cone | ®H
(C) Circle | 96
(D) Square | PSR

Correct Answer : A

21). Which'is a ‘Date and Time’ function in Excel? | Excel el W]
DIV "SC 30T AEH’ R 3T6?

(A) FIND()

(B) MOD()

() NOw()

(D) MID()

Correct Answer : C
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22). Which creates a bar diagram? | SR SIUMH TR HRUARITS] &1 HI0d
ECEINK

(A) Format -> Chart

(B) Tools -> Chart

(C) Insert -> Chart

(D) Edit -> Chart

Correct Answer : C

23). Identify the file type. Roll Number, Name, Theory, Practical 1. Ram,
87,90 2.'Sham, 68,88 3. Vijay, 90,98 | TfcAT UgT 30T ®I3e THR .
ﬁﬁ:ﬁﬁ, AId, @@I(‘l, Uldcahd 1. Ram, 87,90 2. Sham, 68,88 3. Vijay, 90,98

(A) Dataframe | Datafarme
(B) MysQL
(C) CsV

(D) Excel

Correct Answer : C

24). Which starts with “=" sign in Excel 2010? | Excel 2010 Hefer 7=~
forgTg qalerien! BTl URH glad?
(A) Data | Scl

(B) Text | HOIHR
(C) Numbers | T8

(D) Formulas | tIv'\liljFlT

Correct Answer : D
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25). Which command converts cell text to CAPS? | CAPS 7Y 9d ¢Re
TN HIUATETS! BHIUA! HHIS ATaRd! Sld?

(A) =UPPER()

(B) =LOWER()

(C) =LEN()

(D) =TRIM()

Correct Answer : A
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NIMI Mock Test

1), What is the file extension of Microsoft PowerPoint? | AT
DY 3Te?

(A) .txt

(B) .pptx

(C) .docx

(D) .xslx

Correct Answer : B

2). Which shortcut key is use to print slides in MS PowerPoint? | THUY
& WSS flic HRUUMIE] B0l Jche Pi aTuRal Sld?

(A) Ctrl + O
(B) Ctrl +P
(C) Ctrl + Alt + O

(D) Ctrl + Alt +P

Correct Answer : B

3). Which button is used to add instant animation to the presentation?

| USRS aRd 310U SIISUTMTS! iUl §CUT aTuRel Sild?

(A) Add button | 38 dc
(B) Start button | T e
(C) Insert button | gTRIC g

(D) Action button | 3 aRM g

Correct Answer : D
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4). Which option offers a built in design through a dialog box? | CALG!
qaiy SN dIRIgIR TdeC g1 [SHIST HWh ?

(A) Auto content wizard | 3ffel dce fagms
(B) Blank Presentation | Fﬁ?ﬁ@%—‘(ﬂ

(C) Standard tool bar | é@é;ﬁaﬂ

(D) Template | SHIAE

Correct Answer : D

5). Which key stops a PowerPoint presentation? | OTeR Ulse Ugic
YTSIUYIATST BIUIClT DT TR SiTd?

(A) ESC
(B) Tab
(C) Ctrl

(D) Enter

Correct Answer : A

6). Which shows thumbnails of all slides in PowerPoint presentation for
g;s%arrangement? | MS PowerPoint Aefid Weliaue! Hiurdl ﬁ@?ﬂq Y

¢iie] Td e gad! dYUidHT Hgol SHaw] HRUARIA!
LCERF

(A) Reading view | 3T foga

(B) Outline view | 373< a5 f&a

(C) Slide sorter view | T3S Al fRd
(D) Normal view | FHd faga

Correct Answer : C
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7). Which option prints four slides in a single page? | TdhTd UIHIAR 4
WSS BIYUATHIS! DIV YA IR SITdl?

(A) Handouts | ﬁgm
(B) Print Layout | flic d3m3e
(C) Customer Range | UTlgh goft

(D) Print All Slides | 94 W38 fiic &1

Correct Answer : A

8). Which dialog box changes slides automatically for a particular
period of time in PowerPoint? | TlaR QIcAHTe BI0TT ST STe]
HTATIRIA TS WA Idgul G aal?

(A) Action setting | 3fa-H Tfd

(B) Slide transition | T3S Cisi=H
(C) Slide animation |w1s€1q=ﬁﬂm=r

(D) Custom animation | P¥H 3= fAuRE

Correct Answer : B

9). Which key combination is used to show the laser pointer during
av"r%mwm# EAUGIRRISE|

slide show? | WSS X G ¥R UlScR
CACIGEIG] ?

(A) Alt + Left mouse button
(B) Alt + Right mouse button
(C) Ctrl + Left mouse button

(D) Ctrl + Right mouse button

Correct Answer : C
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10). What is the correct sequence for inserting some slides into current
resentation from other presentation? | IR Y qHTAT
& Dlg! WLy Il Y hH BRI 3g?

(A) Home Tab - New Slide - Reuse Slide | aué’a-aisvwrm -qm-ﬁw
NIEES]

(B) Home Tab - New Slide - Slides from Outline | 81 ¢a-3iER HRSY - W S-WIRS
WiH

(C) Home Tab - New Slide - Duplicate Selected Slides | 81 ¢a-3ieR NNIEERER CNIESE
gl C dlacs il eXd

(D) Home Tab - New Slide - Title Slides | 819 cd-3{x W3EH - WS- W3S

Correct Answer : A

11). Which option creates a presentation automatically in PowerPoint? |

WW@W/WWWWWW
TR SITI?

(A) Template | i

(B) Blank Presentation | i U

(C) Auto content wizard | 3ffel dee ﬁsmf
(D) Standard test bar | LSS o IR

Correct Answer : C

12). Which function key runs a PowerPoint presentation? | BICELIED
RICRIER| amiﬁwma% DI ThaRI i aTuR Sild?

(A) F3

(B) F5

(C) F7

(D) F9
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13). How uniform appearance is created by adding background image
to all slides? | 99 TSGR I Ui g U™ HIT TR
B Yehdl?

Correct Answer : B

(A) By creating a template | SHIE TR BRI

(B) By adding a template | cIcle U8 &
(C) By using Auto correct Wizard | 3ifcl HYae [agrs aml
(D) By editing the slide Master | ¥I1gS HIRCY ufEe &I

Correct Answer : D

14). Which PowerPoint tab has themes? | Ulax tlmiﬁ JH FHioTar
caei 78 Qrehlla?

(A) Transition Tab | S-SR <o

(B) Design Tab | %3113?53

(C) Insert Tab IET\‘:R:cEVTq’

(D) Animation Tab | 3RO <d

Correct Answer : B
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15). Which dialog box in MS PowerPoint allows to change the slides
automatically in a period of time? | MS PowerPoint il HIud SN

Sid BRId® BIAaUld W ey AI3T deAvdr] WA ¢dl?

(A) Slide transition | ¥TSS ¢ IR
(B) Slide animation | &IIgS 3 AT
(C) Action setting | TR Tfd

(D) Customer animation | HICH 3= fARE

Correct Answer : A

16). Which item contains text graphics, charts, sound, video, etc., in

PowerPoint? ahuqu OiscH HIUTAT SIS HoIHx UTithen, TIC,

37an, fefs3h 3. TuIfay 3fad?

(A) Slides | ¥llg S

(B) Folder | HItax

(C) Handout | EVE'&I'IBW

(D) Desktop screen I@WTVU@FT

Correct Answer : A

17). What are the dotted areas in an empty slide of MS PowerPoint? |

MS PowerPoint 2T RPTRI WeSHY Sice Tcd TRAT HIuTd 3Mad?

(A) Template|é'1:l?l@l'cr
(B) Placard | @IS
(© PIacehoIdersl‘ﬂ'\‘Iﬁﬁ'R

(D) Themes | jes)

Correct Answer : C
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18). Which tool allows the user to select different layout for slide? |

DIV T/ WSS urd! e deii3e Hasudre Al adr?
(A) Apply design | 3ty fegmsA
(B) Bullets | §aic

(C) New slide | g &ilgs
(D) Slide Layout | TATSS A3ATIC

Correct Answer : D

19). Which is a default page setup orientation of the PowerPoint slides?
| OTeR UiscHdid Weeud slhiceduR Us He 3T JIRUCRIH HIUId 31Tg?

(A) Landscapelﬁ@@ﬂ
(B) Portrait | Uice
(© Vertica||a%
(D) Horizontal|mﬁ

Correct Answer : A

20). Which menu applies various effects to the text in a slide? |

Tz eadd cReaR fafdel HTd/3thdc A1) HRUARITS! ShIrdl H aTuRdl
EIRIK

(A) Animation | 3 H=M
(B) Design | f&zme

(C) Transitions | TR
(D) Slide show | XT38 M

Correct Answer : A
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NIMI Mock Test

1). What does the following code snippet do? ALTER TABLE STUDENT
ADD(ADDRESS VARCHAR2(20)); | @Tcilet hTs UC BT HRd? ALTER
TABLE STUDENT ADD(ADDRESS VARCHAR2(20));

(A) Invalid Syntax

(B) Delete the column ADDRESS from the table | ¢8I & ADDRESS A1dTal diad fefere

(C) Adds a column ADDRESS in the table | S&& W' ADDRESS SATGRIT HiaH Siisdl

(D) Adds records in a column ADDRESS in the table | °9d H¢icT ADDRESS TTarAT
DITHHL YPIS SllSd

Correct Answer : C

2). What.is the order for the tuples of the relations? | TTqs =T
BT Y 3MTe?

(A) Any | PIUdE!

(B) Same | T

(C) Sorted | HHAR] cldait
(D) Constant | RRR

Correct Answer : A

3). Which is the best way to represent the attributes in a large database?

| e ScrauHed faRIvdT gRifquarer waid A1 HIrdT 3g?
(A) Relational
(B) Concatenation

(C) Dot representation

(D) Customization

Correct Answer : B
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4). Create procedure dept_count proc(in dept name varchar(20),out
d_count integer) begin select count(*) into d_count from instructor
where instructor.dept name= dept count proc.dept name end Which of
the following is used to call the procedure given above? | Create
procedure dept_count proc(in dept name varchar(20),out d_count
integer) begin select count(*) into d_count from instructor where
instructor.dept name= dept count proc.dept name end dX fectear ufordan
DI HRUITS! WTcierieh! PIUTdT aTuREl Siid1?

(A) Declare d_count integer;
(B) Declare d.count integer; call dept_count proc('Physics’, d_count);
(C) Declare d_count integer; call dept_count proc('Physics’);

(D) Declare d_count; call dept_count proc(‘Physics’, d_count);

Correct Answer : B

5). What is full form of DDL? | DDL & QUi %0 %I 3(Tg?

(A) Data Describe Language
(B) Definition Data Language
(C) Data Definition Language

(D) Data Distinct Language

Correct Answer : C

6). Why query should be executed successfg\llg on a existing view? |
TIYTAR JRGIRAT HTAI-dd HRUGMT3! HIY dYh ] 3‘”%?

(A) The specified table contains data | &Y TaayHed ST Ul STaTF 318

(B) We should have a SELECT privilege only on the specified table | G S Had HGP
SR Ueh SELECT faRIWTeepR 3rrar

(C) The specified table must be in the same database | A<y RO THM ey 3RO
TGH
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(D) SELECT privilege on the view | TXUTAY TP SELECT fA=IWIRI® R 3RI01 3razas® 3me

Correct Answer : D

7). Which_unit is considered if the domain of the element is atomic? |

SIH 3U] (HeH) ST BV ge e Sa?

(A) Different units | W?}ﬁ?ﬂ

(B) Indivisible units | AT gfaew
(C) Constant units | @Rgﬁlﬁ

(D) Divisible units | [AUST gfey

Correct Answer : B

8). Which system is responsible for ensuring durability? | Wﬁ
FPRUGIS] BIUTl 0T STSTEER 3Te?

(A) Recovery system | ¥ Rieed

(B) Atomic system | BcIfid Ried

(C) Concurrency control system | HITHII! held WhIH

(D) Compiler system | HUTSeR ReH

Correct Answer : A
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9). What does the term "attribute” refers to in a table? | R

"Jfeege” a1 Usar 3 BT 3M1g?

(A) Record | faspg

(B) Column | Y
(C) Tuple | U
(D) Key |l

Correct Answer : B

10). What is the use of below statement? Declare out of classroom seats
condition DECLARE exit handler FOR OUT OF classroom seats BEGIN
SEQUENCE OF statements END | Wicitd K cHedl SYINT B2 -Declare out
of classroom seats condition DECLARE exit handler FOR OUT OF
classroom seats BEGIN SEQUENCE OF statements END

(A) Calling procedures | Wm

(B) Handling exception | TSI TaTuRA
(C) Handling procedures | _g@"ﬁ"'[m?

(D) Calling functions | CAINEL fporﬁzl-l

Correct Answer : B

11). Which query calculates a sum, average and then groups the result by
two sets of values? | IV & RIS, TR (TaRS)) TOHT

P ATV R He e S He FebTerd JU Bra?

(A) Cross-tab | HII-¢d

(B) Snapshot | HuRe

(C) Both cross-tabs and Snapshot | hIg-Cq 30T HURITC qlal
(D) Across-tabs | MBI -CF
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Correct Answer : A

12). Which command is used to obtain the structure of an Oracle table? |

ST T U HRUGTTST, aToRugT= IR 3T]:

(A) STRUCTURE [TableName].
(B) DESCRIBE [TableNamel].
(C) DESCRIBE STRUCTURE [TableName].

(D) DESC TABLE [TableName].

Correct Answer : B

13). Which of the following is TRUE about DDL command? | DDL
FHISEE GTaUD! ﬁvéw 31Te/ 3Med?

(A) Controls of the database system. | STy Red g0
(B) Inserting, modifying, deleting and viewing the records. | il areray, {-[iﬂTl?[, gcduor Sffor

(C) Creation, deletion and alteration | felﬁ-f?ﬁ E'ETTU-T 3fTfor dgd BT '\‘I'Fl'lﬁ'g GI'I%r
(D) Retrieve data from the database | 3! @E’I@W‘Eﬁ <Gl Q:lﬂfl?[ H& Pl

Correct Answer : C


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 48

14). Which phase designs and characterize the data needs of the
database users? | HIUIdT <] ScTay aTIRG AT Sel TR ISSHIS&"I HXdl

31T afreediea rl?

(A) Initial phase | URfY® B

(B) Execution phase | TRIRJRIA ol
(C) Maintenance phase | B¢ Tl
(D) Closure phase | AR ol

Correct Answer : A

15). What is the set of permitted values for each attribute of a relation

called as? | [ReIR=01 U SHfCHHTS] TRATIT Srcied GedieAT Hedl
BT BUIIa?

(A) Domain | 19+
(B) Relation | §d¢
(C) Set|dc

(D) Schema | ¥

Correct Answer : A

16). Which are TCL commands? | WTATTUDT B TCL HHIS 3Mea?

(A) COMMIT and ROLLBACK
(B) UPDATE and TRUNCATE
(C) SELECT and INSERT

(D) GRANT and REVOKE

Correct Answer : A
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17). What is the format for compound statement? | UGS WeHId WEY

T 3Te?

Correct Answer : D

18). Which collection of operations form a single logical unit of work? |
HIATY Tehd QMolhd e daR HRUMT S{RR-T<] SUSIHI B orda?

(A) Views | fo®

(B) Networks | Fcdd

(C) Units | gFcH

(D) Transactions | GIADGIH

Correct Answer : D

19). What is the error in the below statement? Create function
deptcount(dept_name varchar(20)) begin declare d_count integer; select
count(*) into d_count; from instructor where instructor.dept_name=

dept_name return d_count; end | R faemEa ﬁ_cpf TMNET? Create

function dept count(dept_name varchar(20)) begin declare d_count
integer; select count(*) into d_count from instructor where
instructor.dept_name= dept_name return d_count; end

(A) Return type missing
(B) Dept_name is mismatched
(C) Reference relation is not mentioned

(D) Error in the formation of the function name

Correct Answer : A
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20). Which database aspect Ereserves execution of translation in

isolation? | IV ScTaY TUhTohId HTNIaRTa! AUl SRi&d

?

(A) Atomicity | TSI
(B) Consistency|?ﬁ'fﬁ|27m
(C) Durability | Sg3Rfsec
(D) Integrity|€%ﬁl?zpf

Correct Answer : B

21). What is full form of DML? | DML © Ul 0 %1 3187

(A) Data Multiplication Language
(B) Data.Manipulation Language
(C) Data Modify Language

(D) Data Mapping Language

Correct Answer : B

22). Which is tetln%logical design of the database? | ScTaYd Qo d
?

(A) Instance | 3¢
(B) Relation | TaYy
(C) Domain | e
(D) Schema | TH T

Correct Answer : D
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23). What does the following statement in SQL do? DROP TABLE student;
| SQL Hefie Wreitel faeT &I HRd? DROP TABLE student;

(A) Deletes a table called student | student CIGIEKC] ?E?:I?f

(B) Creates a table called student | student ATdTl T dIR Bl
(C) Check if there is a table called student | student FTaTd ¢ad 3Tg BT d AU

(D) Deletes only the records in a table called student | studentaTdT=dl AU Had Yble

24). Which is a type of database? | WU DIVl Seloy YhR SiTa?

Correct Answer : A

(A) Transition
(B) Relational
(C) Outlook

(D) Decentralized

Correct Answer : B

25). Which scheme controls the interaction between executing
transaction? | 10T ThIH HTGRIAT SHATSIIUN AT TRERHIG
DHeld HId?

(A) Concurrency control scheme | ﬁquéﬁa;aa W

(B) Multiprogramming scheme | T TR Wiy

(C) Serialization scheme | ﬁlﬁ&ﬂl%@?lq T

(D) Schedule scheme | Wﬂﬁﬂ

Correct Answer : A
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NIMI Mock Test

1). What is the full form of WWW? | WWW d Ul 0 %I 31g?

(A) World Wind Web
(B) World Wide Writer
(C) Website Wind Writer

(D) World Wide Web

Correct Answer : D

2). Which is.an example for WAN? | 41 T WAN T DIUd SaTgRul 3Me?

(A) Internet | Rﬁ?
(B) Home network | @ﬂw

(C) Campus network | HHIF Hcdd
(D) Bluetooth network | &EHW

Correct Answer : A

3). What is the full form of IP? | IP TT ¥qUl B1H &1 3Tg?

(A) Internet Protect
(B) Intranet Protocol
(C) Internet Protocol

(D) International Protocol

Correct Answer : C

4). What is required for real time audio-video conferencing using two
way communication? | ﬁmmﬁwﬁwﬁ 33 , %ﬁ@ﬁﬂﬁk’
........ A ARSI RIUTA] TR 318 - HTTRIB- G2 - - - - - - om0
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(A) Receivers and senders | f=ftar snfor A=sw
(B) Packet to frames | A d Udhe

(C) Pixels to packets | fUdId d Udhe

(D) Frames to pixels | Hr d fUaad

Correct Answer : A

5). Which data communication system spans states, countries or the
entire world? | mﬁa{omﬁw@aﬁr , &3 fohar Fquf ST

?

(A) LAN
(B) WAN
(©) MAN

(D) PAN

Correct Answer : B

6). What is the full form of ADSL? | ASDL QURET &1 3MT8?

(A) Asymmetrical Digital System Line
(B) Automatic Digital Subscriber Line
(C) Asymmetrical Digital Subscriber Line

(D) Asynchronous Digital Subscriber Line

Correct Answer : C

7). Which is the default network mask for class A? | I A TI3T SIPice

Acdd R IV 3HTe?

(A) 255.0.0.0

........ (B)- 255.255.0.0- - - - - o o e e e e e e
Contact - 9370948482, 8055403224, 9325721873
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(C) 255.255.255.0

(D) 255.255.255. 255

Correct Answer : A

8). What type of firewall is typically connected between a device and a
network connecting to the Internet? | gl SIS UIR SUHRUI
Acdh YrAHS D10 YbRd! IRl Silgaicl Sd?

(A) Hardware firewall | E"Ié%\’rl'\" HraRard
(B) Software firewall | GiUedsR HRIRaid
(C) Inspection firewall | TURTUT HRIRGTA

(D) Microsoft firewall | ATIhIGUC HRIRATA

Correct Answer : A

9). Which is a valued DOMAIN name form? | @TeiiaUd! g DOMAIN
19 B0 3HTe?

(A) www.nimi.gov.in
(B) www.nimi@gov,in
(C) www.nimi.test.gov.in

(D) www.nimi/test@gov/in

Correct Answer : A
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10). What is the full form of E-Mail? | e-mail WU’T\IﬁW 3{Tg?

(A) Electrical Mail
(B) Electronic Mail
(C) Electrical Mailing

(D) Electronic Mailing

Correct Answer : B

11). Which type of network connection is used to cover 10 Km to 1000
Km area? | IVl YhRd Hcdd dh-a= 10 fHt o 1000 fHHT &5 SAUd?

(A) LAN
(B) WAN
(C©) MAN

(D) CAN

Correct Answer : B

12). Which server load reduces by proxy server? | TieR TeRgR HIuTcdl
Hog3dl YR HH! BIdl?

(A) Proxy server | TRl &

(B) Node server | 71 T

(C) Domain server | I8 T&3

(D) Primary server | & H&@<

Correct Answer : D

13). Which cable connects different types of device in a network? |

Acaruy fAfdy YR IUBRU SISTITST BT Uh Rl had?
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(A) Cross cable | PG Had

(B) Straight cable | ®¢¢ Had
(C) Rollover cable | JANGR HId

(D) Yost cable | TRC Had

Correct Answer : B

14). What is the full form of TCP? | TCP © UUI 0 & 3187

(A) Test Control Protocol
(B) Transfer Control Protocol
(C) Transport Control Protocol

(D) Transmission Control Protocol

Correct Answer : D

15). What Is full form of WAN? | WAN d QUi &U &1 3{Tg?

(A) Wide Area Network
(B) Wide And Network
(C) Web Area Network

(D) World Area Network

Correct Answer : A

16). What is the full form of SIP in voice over IP? | osTé{-l &I\IOE;Q IP 7
SIP d Ul U &1 3T8?

(A) Session Initiation Port
(B) Session Initiation Protocol
(C) Session Initiation Path

(D) Session Initiation Packet
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Correct Answer : B

17). Which device is used for modulation and de-modulation? |

HISYR 3101 SI-HISYARFHIST DIV SUDRUN ATUR Sil?

(A) Hub|®d
(B) Bridge | fsst

(C) Switch | @
(D) Modem | HISH

Correct Answer : D

18). Which defines the packet filtering firewall rules? | e ftheefiT
BIIRAId fgH DIurd TRHINT SRdld?

(A) Access control list | TR $gld foRe
(B) Protocols | mMepid

(© PoIicies|tIW
(D) Ports | OIC

Correct Answer : A

19). How many pairs of wires are there in category 5 UTP cable? | gufty
Eﬁ%ﬂﬁ 5 UTP %ﬂﬂ%ﬁﬁ?ﬁ%ﬁh‘s’@ﬂ%ﬁ?

(A) 3
(B) 4
© 5
(D) 6

Correct Answer : B
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20). Which is required for video conferencing and streaming, live chat

and web based courses? | fe&f&3l BB, fegfg 3l Wit g dc
3TOT AT SYTRT HIRITATST BT TR 37T?

(A) Coaching |ﬁﬁi’ﬂ

(B) Learning organization | fRI&01 T&iT

(C) Online development | e faer
(D) Assistant to positions | IGIHTS! TeddH

Correct Answer : C

21). What is the full form of HTTP? | HTTP d Ul U %1 31lg?

(A) Hyper Transfer Text Protocol
(B) High Text Transfer Protocol
(C) Hyper Text Transfer Protocol

(D) Hyper Text Transducer Program

Correct Answer : C

22). Which of the following attacks to protects by firewall? | ECININ P
DIV ool BRRAIAGIR YRI&d bl SITdla?

(A) Phishing
(B) Dumpster diving
(C) Denial of service

(D) Shoulder surfing

Correct Answer : C

23). What is the main advantage of intranet over than Internet? |
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$CIACUST SCHCHl G BIIG BTy 3H1g?

(A) Multi user | THIIE AR
(B) Public network | STaSI-® "cad

(C) Secured | '{R‘f&ﬁ
(D) Un-limited information | S g

Correct Answer : C

24). Which device connects multiple network segments along with the

data link layer? | ®IUId SUHUT ST foidh TaRYg UHIUD faymTT
?

(A) Hub|[®d

(B) Router | IJeX
(C) Bridge | ot
(D) Switch | T

Correct Answer : C

25). What is wired equivalent privacy? | a0S T MYl Tgurst
DIY?

(A) Security algorithm for Ethernet | SYRcHal ﬁlﬁgﬁ_@[ ATNGH

(B) Security algorithm for wireless network | AR Heddburat ﬁﬁgﬁﬁ S@NNeH
(C) Security algorithm for USB communication | Q:Q'\‘:l@ﬁ BERLISIGE ﬁaqﬁﬁ SARey
(D) Security algorithm for parallel connection | HIR CEEIE NI ﬁagﬁ‘c"r JANRGH

Correct Answer : B


javascript:void(0)
javascript:void(0)

Page 60

NIMI Mock Test

1). Which of the foIIowmg code is used to add a plain color background
to the web page? | ¢ 99 USTaR @iF H /T T dhUS S
PHIUT DS ITURAT STdI?

(A) <body bgcolor = “36, 2437">
(B) <body color = “#FF000" >
(C) <body bgcolor = “#FF000” >

(D) <bgcolor = “blue”>

Correct Answer : C

2). Which tag is use for AUDIO in HTML? | HTML ¢l AUDIO |11
<q dTURE SIdI?

(A) <bgsound>
(B) <audio>
(C) <video>

(D) <canvas>

Correct Answer : B

3). Which HTML tag makes a text bold? | HSIhR dadh HIUGMTST A
HTML cTl

(A) <b>
(B) <bold>
(C) <bb>
(D) <blb>

Correct Answer : A
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4). Which is the correct syntax for addin% alternate text for image, if the

image cannot be displayed? | gfaan bl SIS Yhd AR
Eri?ﬂ?rm‘cﬁ dPh it TIDHR SISUARITS! AT syntax HIUAT 3Tg?

(A) <img src = “boat.gif” alt = “big boat”/>
(B) <img src = “boat.gif” alt text = “big boat"/>
(C) <img src = “boat.gif” alternate = “big boat”/>

(D) <img src = "boat.gif” alternate text = “big boat"/>

Correct Answer : A

5). What will happen if height and width of a video is not set while

%%%%;ng? | Tgf& 31 e dHrar fgfg =i 3=t for Sl Ye 7 e w1
?

(A) Page does not load | U S e dle
(B) Page crash | Ul 6

(C) Page close | BEICNIES]

(D) Page flickers | Ul

Correct Answer : D

6). What is the full form of WYSIWYG? | WYSIWYG d T IH &1 3Tg?

(A) What you see is what you get
(B) What you see is what you gain
(C) When you start is when you go

(D) When you sort is what you got

Correct Answer : A
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7). Which is incorrect <label> tag in HTML? | WWW 3{Tg?

(A) Used for creating tag for FORM elements | HTML Tefie <label> ¢ FORM U ITa!
ST IR HRUGRITS! IRl

(B) Used to increase the clickable area of buttons | <label> S UM fads Huarag &
JIGAUITITS! aTURd SIS, Uehd

é‘C_’)’ Decrease the clickable area of FORM elements | <label> FORM gchid fda® SOy
HH! HYUGRTST

(D) Increase the clickable area of FORM elements | FORM Hehid faad HIvarary a'al
qrequaTaTa!

id fI=Ivdr <lable > g aTU¥e! SITd

8). What are the unchangeable web pages called? | - Seddl Aungr 49
USTH AT oh [T FUIIA?

Correct Answer : D

(A) Static | Ele®
(B) Dynamic | SIRRIEED
(C) Immovable | E@W

(D) Flash | SRi=T

Correct Answer : A

9). Which tag creates a checkbox in a form in htmi? | PHIUTAT SITeaR html
At BIHAY ThaEIRT GUR bl SIdl?

(A) <check box>
(B) <input check box>
(C) <input = check box>

(D) <input type = “check box">

Correct Answer : D
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10). Which web language controls the HTML elements and allows them
to change at any time without returning to the Web server? | DI dd
YIYT htm| IChiaR S U0 4o 30T i1 99 HegaR U = Gl
DIUATG! I3 TEGAVIRIT RAT dl?

(A) BML
(B) XML
() HTML

(D) DHTML

Correct Answer : D

11). What is node in Drupal? | Drupal T S WU HI?

(A) Piece of individual content as a page, poll | g8, AdcTH WU dufaa® ANTHET ghsT

aN

(B) Piece of content rendered anywhere | SIEPIE] do sl @le IS ol

(C) Module | Aisgd
(D) Custom Modules | Wﬂﬁ%ﬂﬁ

Correct Answer : A

12). Which web page contains the controls while interacting with user? |
QI$E|EI?

HIUTAT 9§ gRTAR =01 3fgd SURIE dTURGdl 9dlg ATef

(A) Server | &R
(B) Static | &l
(C) Dynamic | STIHTH®

(D) Client | FR—IC

Correct Answer : C
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13). Which is a free WordPress domain name GprO\(ided to WordPress.com
users? | TP DIV WordPress.com dTIR&GIIT A% WordPress S

q1a fadl Sa?

(A) yoursite.WordPress.org
(B) Yoursite.org
(C) yousite.WordPress.com

(D) yousite.WordPress.gov

Correct Answer : C

14). Which-is the correct CSS syntax? | 3f& CSS RiCoT DIvIdT 3Tg?

(A) body: color = black;
(B) body { color: black}
(C) {body: color : black;}

(D) {body : color = black;}

Correct Answer : B

15). Which tag is used to create a combo box? | I SIdY TR
CRUSIENI G <] gTURTe?

(A) <select>

(B) <list>

(C) <input type="dropdown”>

(D) <checkbox>

Correct Answer : A
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TR, TR ST Ub Rl dadrge fAwiid ddl 3He?

(A) Flash | /i1
(B) Static | Kfc®h
(C) Dynamic | STHT®

(D) Format | BIREC

Correct Answer : C

17). What is the first tag in htm! document? | html SIRFHCHE Gige <1
BT 3T8?

(A) <html>

(B) <head>

(C) <title>

(D) </html>

Correct Answer : A

18). What is the use of <TD> tag in a table? | CIAHE <TD> CITal U
BT 3T5?

(A) Table heading | c§d afet
(B) Table Data | 29d Sl

(C) Table row | CSA I

(D) Table Column | CSd HIAH

Correct Answer : B

19). What is the correct syntax for making a hyperlink? | RRENNEY
I TR B 3T5?
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(B) <url = “http: // nimi.gov.in”>nimi

(C) <a href = “http:// nimi.gov.in”>nimi</a>

(D) <aref = "http:// nimi.gov.in”>nimi</a

Correct Answer : C

20). What are the two main parts available in html document? |

TACUHU SiegHcHe IUds gIH i HITT HIvIG?

(A) Title and Body | €RICd 3101 dlSt

(B) Head and title | 88 3fIf0I ccd
(C) Head and Body | TS S3MOT FIST
(D) Head and document | %@’ 31’@[37@?

Correct Answer : C

§|1T)%What is the other name for web address? | CERRIE! gﬂ%?ra g
?

(A) URL
(B) Html
(C) Http

(D) Webpage

Correct Answer : A

22). What will be the output of the following HTML code? <html>
<body> <p><strong>NIMI</strong></p> <p>CHENNAI</p>
</body> </html> | WA HTML SIS 313cYC B 3Hd? <html>
<body> <p><strong>NIMI</strong></p> <p>CHENNAI</p>
</body> </html|>

(A) NIMI CHENNAI
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(B) NIMI CHENNAI

(C) CHENNAI NIMI

(D) CHENNAI NIMI

Correct Answer : B

23). Which of the following HTML code is valid? | @eli@Ud! IOl HTML
DI IY 3TR?

(A) <font colour="red"”>
(B) <font color="red"”>
(C) <red><font>

(D) <font face="red”>

Correct Answer : B

24). Which is a free open source web development IDE? | Gl NP
DIVl Yo Herd Hld dd feaeutc IDE 317g?

(A) HTML
(B) Kompozer
(C) S Cite

(D) Base

Correct Answer : B

25). Which is the correct syntax for referring to the external style sheet? |
TR Il Wbt HaH GuarTdl Wieierie! A aTeIRaT BIvldl 3iTg?

(A) <style src = “example.css” >
(B) <style src = example.css>

(C) <stylesheet> example.css </stylesheet>
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(D) <link rel="stylesheet” type="text/css” href="example.css” >

Correct Answer : D
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NIMI Mock Test

1). Who interprets JavaScript? | JavaScript dI 31 D07 AT

(A) Client | FITAC
(B) Server | g&X
(C) Object | Hisside
(D) Class | oIl

Correct Answer : A

2). Which variable declared outside a function in Javascript? | SICIE:gY
A DI BRUSA BRI dTex Iivd Bl Sd?

(A) Function variable | R oRUTd
(B) Global variable | Toled |Ruad
(C) Local variable | GIEN O%R@lci

(D) Object variable | fissiae BRUTA

Correct Answer : B

3). Which data type in javascript returns the value ‘True’ or ‘False’? |

SaThy Al I Scl UHR Id [hal gevid Jed e dva?

(A) Boolean | gferaq
(B) Dynamic | ST
(C) Object | 3isaide
(D) String | R

Correct Answer : A
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4). Where is JavaScript code written? | CAUR] JavaScript Dreued fafgdr
Jga?

(A) JavaScript file (s file)
(B) HTML document directly
(C) JavaScript file and in HTML document directly

(D) In style sheets (.css file)

Correct Answer : C

5). Which function in javassript converts a number to a string? | EICIEE2Y
T HIUA R Fad TUiar &7 94 gla?

(A) Num()
(B) Str()
(C) String()

(D) toString()

Correct Answer : D

6). Which of the following is not window object method? | eI
a%vl?ﬁ fdST Silssiere Uegd 81?7

(A) blur()
(B) close()
(C) confirm()

(D) unescape()

Correct Answer : D

7). What is the return type of the method parseFloat()? | parseFloat()
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Ugaral Red UhR & 3Hg?
(A) String | f&&T
(B) Float | Wile

(C) Integer | tI'_;'JTW
(D) Date | ARG

Correct Answer : B

8). Which is a free open-source HTML editor developed by Microsoft? |

faBIRId derd Wl 3U- TR TACIUHTd TSeR PIUI 3MTg?

(A) Visual Studio Code
(B) Notepad++
(C©) Komodo Edit

(D) Atom

Correct Answer : A

9). Which one is responsible of running javascript code? | STaRhY Hle
ATAJUITTS! (Run) DIUT SETEER 3?

(A) Browser | STHSR
(B) Notepad++ | AlcUS ++
(C) Sublime Text | IAEH RS

(D) Visual studio code | I(-O\G\vg&l?f »&gl%&ﬁ HIS

Correct Answer : A

10). Which statement is used create custom error in javascript? | EICIEEgY
Y DIV L HA HEH TR TR Dl Slld?
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(B) Finally

(C) Throw

(D) Try

Correct Answer : C

11). Which programming language’s syntax influences javascript syntax? |

HTSI ATSUN UHIG UTSa?

(A) C
(B) COBOL
(C) Java

(D) JDK

Correct Answer : C

12). Which object method is used to return the value rounded down to
its nearest integer? | PIUT fTsoide HYSER X g Al Sides=A]
& F[U(R bell STd?

(A) abs()
(B) ceil()
(©) floor()

(D) round()

Correct Answer : C

13). What will be the output of the following JavaScript statement? var
grand_Total=eval("10*10+5"); | LGIKi] JavaScript ICEIGIE! 3T3CYC hY
? var grand_Total=eval("10*10+5");

(A) 10*10+5

_______ (B) _105.as.astring | 105 U T WU, _ ..
Contact - 9370948482, 8055403224, 9325721873
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(C) 105 as an integer value | 105 S¢ToR g U

(D) Exception is thrown | 3{UdTg TIHAT SITdl

Correct Answer : C

14). Which keyword is used to declare a variable in javascript? | EIGIEEgY
qg At DI foh-TS ATURe Sildl?

(A) Const
(B) Dec
(C©) Dim

(D) Var

Correct Answer : D

15). Which is a statement terminator in javascript? | STap Y A9 HI0d
¥WHe CiHAer 3e?

(A)

(B)

< :
(D) ..

Correct Answer : B

16). Which is used in web application development, particularly for
adding various dynamic functlons to web pages?

& D IUIdT ITORAT ST, faRIvd: ad g¥iaR [dfdy S-S ==
?

(A) Oracle

(B) JavaScript
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(D) C++

Correct Answer : B

17). Which of the following is an logical operator? | WUt HIurar
QTSR T SHTIRCY 357

A) &

(B) &&

© =

(D) +

Correct Answer : B

18). Which one enables the hosting providers to manage multiple
domains on a single server? | Uch] {ogdR UhHTUET SR
TCTTT 10T H&H HRdl?

(A) Network server | ERGEY H%T
(B) SQL server | SQL Y&

(C) Web server | a9 '\‘:Ic_{f?

(D) Database server | Sl ag ‘v'l%'\’

Correct Answer : C

19). Which assignment operator is equivalenttoa = a * 57 | DIOT
3R a = a *5 2 I 3M7g?

(A) a=5*9
(B) a=*5

(€) a*=5

(D) a-=
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Correct Answer : C

20). Which web server has high performance stablllty simple

configuration and low resource usage? d9 YmiPh e 3@-
prigrd, fRRar, I @f?ﬁwaﬂmww 31T8?
(A) Apache

(B) IS

(C) Lite speed

(D) Nginx

Correct Answer : D

21). Which brackets is used to write array in java script? | SaIfshe ged
3R (Array) I8 TITITAST S IUTCT @y ATORA Gﬂ?lj’f

(A) Curve bracket | WW

(B) Square bracket | TWH3R b
(C) Curly bracket | Sl Hbe

(D) Corner bracket | PR Fhe

Correct Answer : B

22). Which of the foIIowin?[ statements is false about hosting? |

fqur gt 318

(A) Shared hosting is cheaper than dedicated hosting | Q3R BIRET YA BIRCTTUET WRd

3Te

(B) Shared hosting is safer than dedicated hosting | 3R gifeeT guftfa gifecmaen
3mg

(C) Dedicated hosting is safer than shared hosting | 3R BRI qrfta gIRET 3iftieh

JRI&T 33
(D) Shared hosting is depends on peer to peer model | QIR BT tﬂ&Rgtﬂ&R N CNEE]
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23). Which part in loop evaluates the conditions? | quu%ﬁa PHIOTAT YT
3{cid Geich hRdl?

(A) Condition part | HISIH Ué

(B) Increment/Decrement part | 3f=pHc /fSfhdic uré

(C) Initialisation part | SMIRISIATIIA TTE

(D) Looping part | @UIT UIc

Correct Answer : A

24). What are the three data types supported by JavaScript? | JavaScript

R UG diF el UBR BHIUd igd?

Correct Answer : B

(A) Function, Array & Boolean
(B) Var, String & Prompt
(©) Numeric, Alert & Quots

(D) Number, String & Boolean

Correct Answer : D

25). Which type of entity is “function” and " var”? | “function” 30T “var”
DIV UbR @ré?
(A) Keywords | ®ds

(B) Data types | ST UHR

(C) Declaration statements | "Iyon faem

(D) Prototypes | McIcIgy

Correct Answer : C
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NIMI Mock Test

1). Which variable works as function argument in java script? | EICIEEgY
el B0 FRUTA HaRM ST WU HH HA?

(A) Function variable | ThaRT O%RQQG

(B) Global variable | QLY O%i\w,dm
(C) Local variable | derd gRead

(D) Object variable | 3isoide R Usd

Correct Answer : C

2). Which is JavaScript’'s default behawour of moving declarations to
the top of their containing sc ape? | ENSOTIT e e STt
SR JavaScript @ SItlce dd- HIUd 3MT8?

(A) Development | S&dUHC
(B) Hoisting|iﬁ'ﬁ'ﬂ

(C) Designing | fSZmgf-
(D) Uploading|3'I'CIFﬁ_eﬂ=‘T

Correct Answer : B

3). Which part in loop evaluates the conditions? | @mﬂaﬁw Y
3{cTd el HRcl?

(A) Condition part | HISH UTe

(B) Increment/Decrement part | 3f<htic /fSfpae uré

(C) Initialisation part | 3MRISQAEERM UT¢

(D) Looping part | i O1¢

Correct Answer : A
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4). Which is a type of Pop-up box in JavaScript? | JavaScript i
U937 Syl UHR HIUTd] :l'lﬁ'?

(A) DOM | 3dC Sidq
(B) Confirm Box | HPpH glag
(C) CSS | U e

(D) Html | TadiTqud

Correct Answer : B

5). Which keyword is used to define a JavaScript functlon7 | JavaScript
THaR Uik HRUGTITAT D IUTdT 0I’>Id6 diyuxci

(A) Module
(B) Fun
(C) Func

(D) Function

Correct Answer : D

% Which is the open source web server solution stack package? | 394
qd {-IOER {-Ilc'i;!\-?l"l LD b I &ﬂ%

(A) XAMPP
(B) XAAMP
(C©) XAMMP

(D) XAMP

Correct Answer : A

7). What is the return type of the method parselnt()? | parselnt()
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Ui Red UhR &1 AHTe?
(A) String
(B) Float

(C) Integer

(D) Date

Correct Answer : C

8). Which dialog box give a warning message to the users? | G|
SN digd ARG AT Tdrgull ﬂagl é?‘ﬁ?

(A) alert()
(B) alertBOX()
(C) alertHTML()

(D) alert

Correct Answer : A

9). What is the return type of the method parseFloat()? | parseFloat()
Treital Re- YR BT 3Hlg?

(A) String | T

(B) Float | Wilc

(C) Integer | ‘{[UTW
(D) Date | ARG

Correct Answer : B

10). Which property returns the width of the visitor’s screen in pixels? |

feferer Rt St aad Aed fYed HRumst uradt wiurd 3me?

(A) Width()
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(B) Screen width()

(C) Screen.width()
(D) Width.screen()

Correct Answer : C

11). Which one is responsible of running '!avascript code? | STaTehy
HIS ATATUIRTS] (Run) WW ?

(A) Browser | STH AR

(B) Notepads++ | AICUS ++

(C) Sublime Text | YasH CRe

(D) Visual studio code | f%Gﬁ&IFT E‘%Gﬁa'ﬁ—s'

Correct Answer : A

12). Which is a statement terminator in javascript? | STaier Y HE HIvTd
¥ cHe TitHeR 3g?

(A)

(B)

Q) :
(D) ..

Correct Answer : B

13). Which one enables the hosting providers to manage multiple
domains on a single server? | U] {-IOE;QON kObIH&‘H SR SIH-
BT UITA! BIRET UGTIHT 10T H&H Hl?

(A) Network server | Acdd ‘v'l%'\’
(B) SQL server | SQL I&X
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(D) Database server | 3l 99 g&oY

Correct Answer : C

14). What is the other name of Server-side Javascript? | TG-S S
JavaScript d GER A1 ®1Y

(A) Microsoft Javascript | TRISh II*e JavaScript
(B) Navigator Javascript | Afcsilex JavaScript
(C) LiveWire Javascript | ?I'Igﬁ' dIgR JavaScript

(D) Native Javascript | Afes JavaScript

Correct Answer : C

15). What will be the output, if the JavaScript code is executed? var x =
1324; vary = new Number (1324); if ( x ===y) alert ("Yes"); else alert
(“No")-| Teidl SIAhY B Hlfad SATedIER DT MM3CYT M2 var X
=1324; var y =new Number(1324); if (x===y) alert("Yes"); else
alert("No");

(A) Infinity | 3BT
(B) Error | TR
(C©) No

(D) Yes

Correct Answer : D

16). How many different values can be returned by the error name
property in javascript? | SITATEh Y T TR Y QIQéi gR fobdll YbR=AT
difdfod] o eyl e el SITdTa?
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(© 5

(D) 6

Correct Answer : D

17). Which of the following is a web hosting company? | CININEE
ﬁﬂﬁfa‘q’éﬁ%ﬁmﬂﬁ%

(A) Tesla

(B) Microsoft

(C) WPX Hosting | WPX gIf¥eT

(D) Facebook | ThIdd

Correct Answer : C

L?%What is the main purpose of JavaScript? | Ulldllr‘%\qudIH'@I e B
?

(A) Client side validation | T ATSS TSI

(B) Create web browsers | fohuc a9 SR
(C) Read and write files | TS 318 Isc BIs
(D) Store data in the server | TSR ge EL K HoefQ

Correct Answer : A

19). What is the full form of DOM? | DOM d YUl &Y T4 3{T8?

(A) Document Oriented Module
(B) Document Object Model
(C) Dos Oriented Module

(D) Development Object Model

Correct Answer : B
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Report

20). What is Cookies? | Pbiol TgUS H1I?

(A) Data Sending In Text File | THZT TUIBTARIT HSIHR HIZAHE STl UT3dd 3T

(B) Deleting Stored Files | JH HIZeRaR, Adacied BIeed gedd 318

écz)_’ Data stored in small text files | THTIT HIUIHTAR AGTH AP BIseaHd qreqadr

(D) Local Storage | ®iTH® WIS

Correct Answer : C

21). Which object method is used to return the value rounded down to
its nearest.integer? | U fTsoldc HUYSER &l g T Sides =]
& IR il Sild?

(A) abs()
(B) ceil()
(C) floor()
(D) round()

Correct Answer : C

22). Where is JavaScript code written? | CAIRY| JavaScript dleqs
(A) JavaScript file (.js file)

(B) HTML document directly

(C) JavaScript file and in HTML document directly

(D) In style sheets (.css file)

Correct Answer : C


javascript:void(0)
javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 84

23). Which JavaScript Code is use to write alert box? | 3o digqHe
foIfgUarITdT HIUI! JavaScript ATURTI STTd?

(A) windows.alertHTML()
(B) windows.alert()
(©) windows.alertBOX()

(D) windows.alertCONTENT()

Correct Answer : B

24). Which method joins all array element into string with specified
separator? | & IUTdT Uesd 3R A Id g ey lauciemad ke o

vilscl vllcid?

(A) Join()
(B) Pop()
(C) Push()

(D) To string()

Correct Answer : A

25). Which is a valid js code to sort element of an array trade? | 3R
oHIUIRIdl dcm epHAJIKI Waﬂ Gl pls plVid| \’rﬂ%?

(A) Trade.sort:
(B) Trade.sort();
(C) Sort.trade();

(D) Sort.(trade);

Correct Answer : B
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26). What will be the output of the following JavaScript statement? var
grand_Total=eval("10*10+5"); | WIcild JavaScript [ $T3cYC H
3[A? var grand_Total=eval("10*10+5");

(A) 10*10+5

(B) 105 as a string | 105 W]%W%’UE

(C) 105 as an integer value | 105 Eﬂ\_ﬂ' Heg WRU[H
(D) Exception is thrown | 3UdIg Tl Srdl

Correct Answer : C

27). Which data type in javascript returns the value ‘True’ or ‘False’? |

T BT STl UPR I [hdl IbId G Re- hRar?

(A) Boolean | gferad
(B) Dynamic | S
(C) Object | lsside
(D) String | &

Correct Answer : A

28). Which JavaScript is also called as Client side Javascript? | DI
JavaScript <l aefldc HIgS Javascript NI R UK

(A) Microsoft | AIh U
(B) Navigator | ﬁ'%ﬁ??
(C) LiveWire | digcg dIOR

(D) Native | Afc

Correct Answer : B
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29). Which language is widely used in frontend development? |
PEGEEE] ﬁvﬁﬁ YT The s SedUHcHed Hiddl THUTGR dTuRdl SiTd?
(A) Java

(B) JavaScript

(C) PHP

(D) C++

Correct Answer : B

30). Who developed javascript? | ARy hIvfl fadh iRy dheil?

(A) Brendan Eich | aﬁﬁ
(B) Brendan Rich | 557 34
(C) John Eckerl | SIF 3fdhRd

(D) John Mauchly | ST At

Correct Answer : A

31). Which of the following is not window object method? | CI NS EE
DIUTCH {8t 3fisside Ugd ATal?

(A) blur()
(B) close()
(C) confirm()

(D) unescape()

Correct Answer : D

32). Which ta% is use to terminate the current sequence in switch
statement? | LcHcHYd HIC HhH JHTW HRUIRITST HIUTdT Il
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TRl STd1?
(A) Default | SIhicc
(B) Break | 3%

(C) GoTo | g
(D) Jump | STH

Correct Answer : B

33). Which is used in web application development particularly for
adding various dynamic functlons to web pages'?

23] ObIUIcII aTgR T oI, fa=ivd: od li%ﬁﬂgm%

ThaR
(A) Oracle
(B) JavaScript

€ C

(D) C++

Correct Answer : B

34). Which open source software is used to upload file from client to
server? | DIV 307 I FIUI3R FATC IR R 3(US HRUI g
{-IOENObx'i"I dﬂIL,CObS SI3TAIS B0l bl SITa?

(A) PHP
(B) Perl
(C) HTTP

(D) FILEZILLA

Correct Answer : D
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35). Which online JavaScript snippet saver can be used as an editor for
snippets built with HTML,CSS and JavaScript? | 3{[qcllg JS 0T Y
38 — HTML, CSS 3107 JavaScript a4 qaR

3{ITTS TSR WU Tl dTUR 6= Yhal?

(A) jsfiddle.net
(B) jsbeautifier.org
(C) jsperf.com

(D) jshint.com

Correct Answer : A

36). How will you convert String “35" into integer and store-it in
integer variable "n"? | ﬂ'l%jf String "35" <l SCIOR T HY Ui DRI
SR RUT “n” HH HY YUlgd DRIcT?

(A) int n=Integer.Parselnt("35");
(B) int n=Integer.parselnt(”35");
(C) int n=integer.parselnt(”"35");

(D) integer.parselnt(“35");

Correct Answer : B

37). Which function sends messages to the users requesting for an text

input? | ASTRY STYC! facl HROMT dTURG (T T UIGIUaTTS! blord
BT AU SRS, Qehdl?

(A) Display()
(B) Alert()
(C) Prompt()

(D) Getoutput()

Correct Answer : C
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38). What is the parameter of the method Date.parse()? | Date.parse()

Ugdrid URTHICR BT 3Tg?
(A) date

(B) string

(C) datestring

(D) float

Correct Answer : C

39). What is the purpose of modulus (%) operator in javascript? |
T TS (%) SRS B 3Mg?

(A) Percentage value | TIHAR] qY

(B) Product value | UMTHOR Hed
(C) Remainder value | aﬁqm

(D) Quotient value | HRTTPR Hed

Correct Answer : C

40). Which is used to access individual value in an array? | 3R At
fafRIY Ged Uiy DHRugm3T B dIuRd STcl?

(A) Content Number | FHeT AR
(B) Element Number | sﬁﬁzw
(C) Table Number | T AR

(D) Variable Number | %ﬁ'@ﬁ:ﬁﬂ

Correct Answer : B
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BIRETTTE Sl Wieilcueh! BHIUTd fauUT gebll 31Tg?
(A) ?T%m‘ed hosting is cheaper than dedicated hosting | QIR BIRETT T gifeTaed

g
(B) Shaall‘_le%d hosting is safer than dedicated hosting | Q3R IR gufdfa gifdmuen

(@) De;ll_liéated hosting is safer than shared hosting | 3R BIRETYeT At SifeT 3ifdrp
&

(D) _Shared hosting is depends on peer to peer model | 3R BT W3R ¢ TSR 3adig

Correct Answer : B

42). Which keyword is used to declare a variable in javascript?
Hel RIS T HRUAIS] DU fdh-a€ aToRell S

(A) Const
(B) Dec
(C) Dim

(D) Var

Correct Answer : D

43). What will be the output of the following code snippet? <script
type="text/JavaScript”> a = 5 + "9”; document.write(a); </script> |

fued 313CYcC Pl 3 c? <script type="text/JavaScript” >
a=>5+"9"; document.write(a); </script>

(A) Compilation Error
(B) 14
(C) Runtime Error

(D) 59

Correct Answer : D
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44). Which statement is used to test a block of code for errors? | CAUR]

KAl salbAdd Sl It U STdld?

(A) Catch
(B) Finally
(©) Throw

(D) Try

Correct Answer : D

45). Which brackets is used to write array in ava script? | STATRh Y
3R (Array) flGUTRITST D10 69 dTaRe

(A) Curve bracket | WW

(B) Square bracket | W3R qde
(C) Curly bracket | Hll Hbe

(D) Corner bracket | PR Fhe

Correct Answer : B

46). Which of the following softwares could be used to build a

website? | JENITIC TUR HRUANIS! WU BV FGCd3R AU SIS
?

(A) PowerPoint | ICRY U'vl'si_c'
(B) Dream Weaver | 3’!11 digr
(C) Excel | Tqd

(D) ERP

Correct Answer : B
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47). What are the three data types supported by JavaScript? |

JavaScript R gAidd 49 3¢T UHR HIvd 3ed?

(A) Function, Array & Boolean
(B) Var, String & Prompt
(©) Numeric, Alert & Quots

(D) Number, String & Boolean

Correct Answer : D

48). Which special variable holds more than one value at a‘time? |
& Th1d>Y UHTUET SIRd & o ATdad] Aellcl?

(A) Array
(B) Element
(C©) Function

(D) Object

Correct Answer : A

49). Which is a free open-source HTML editor developed by Microsoft?

| ATk 0 fadhRid shaiell b1 31U I TaciUHEd TSR PIvNdT 3Tg?

(A) Visual Studio Code
(B) Notepad++
(©) Komodo Edit

(D) Atom

Correct Answer : A

50). Which keyword used in JavaScript is hoisted to the top of the
block but not initialized? | JavaScript T IV Dids dTUR sl
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YR ThEhIdd SITdld, TRg WRY dheid ATgid?

(A) Let and const
(B) Length and constant
(C) Form and type

(D) Value and autofocus

Correct Answer : A
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NIMI Mock Test

1). Which creates a Calendar table in PowerBI? | Power Bl UR[d U HAS
RO IR el 51 K.

(A) PowerBl.com
(B) Power Query
(C) Power Pivot

(D) Either Power Query or Power Pivot

Correct Answer : B

2). Which is a type of charts? | WU DIV Arcdl UHR ATa)?

(A) Circle | Sa
(B) Land | SiHIH
(C) Square|¥PH3R
(D) Bubble | 9

Correct Answer : D

3). Which symbol is used in a formula to make a cell reference absolute?

| O R FRUE HRUARIS! Bidar Hed gl auR &1 3{1e?

A) &
(B) #
© $
D) @

Correct Answer : C
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4). Which dialog box allows you to change a field name in a PivotTable? |

%)Ell‘lr”dl SN Sl JreTal fUglccdad e hited Al daaudT! TRaTt
?

(A) Field options | it 3H
(B) Field pane | Bics U4

(C) Field settings | wits Afd™
(D) Field structure | U’ﬂ?&'lﬁ'&iﬁ

Correct Answer : C

5). Which is required to comment out a line of code in the Power Query
Advanced Editor? | UlaR 1] SIS Ufecue sl
DIV IS 3T5?

(A) Use #
(B) Use\\
(C) Use /*

(D) Use//

Correct Answer : D

6). On which application the principal arrival of PowerBI based on? |

OIaRE 3T & TTHA DIV 3fSifaR TR 3Me?

(A) Microsoft word | A% Y S
(B) Microsoft excel | HIOH G0 Qﬂ'\aﬁ
(C) Microsoft outlook | ATIHIEITE HT3CAD

(D) Microsoft PowerPoint | HTIhIGIUC UldRUlec

Correct Answer : B
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7). How many types of conditions are available in conditional formatting

of Excel? | Excel T HiSTMd BIRACTHH fabdl YhR=AT 3Tt ST 3HTgl?

(A) Two |gH
(B) Three | dH
(C) Four |dR

(D) Five | U

Correct Answer : D

8). How can we correspond to the category labels in a pie chart and

series name in other chart? | &ﬂ?%"‘[ t|'|‘§ Ireasfia 9ot A &ﬂ'fﬁfsﬂ?
ATCHEN HifcIpl ATaTRN HY Ybq B Kbl

(A) Plot Area | wWilc TRar
(B) Legend | feisis

(C) Gridlines | Dredrg
(D) Slice | WZY

Correct Answer : B

9). Which function returns a value within a table? | 10 BRI <ae fbar
ISHYA g a1 TgH Gd?

(A) Index
(B) If
(C) Sum

(D) Count

Correct Answer : A
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10). Which tab has number format option in Excel? | Re R BT
cddX Jelcll ddX hIRHC HIUR[?

(A) Insert Tab | <q 9Tl
(B) Formula Tab

(C) Home Tab | ?\'ﬂi‘d
(D) Data Tab | ScT<d

Correct Answer : C

11). Which format will display the value 32,500,000 as 32.57 G|
WIRHC 32,500,000 < JeI 32.5 WU UG RId decr?

(A) ###i#,

(B) ###.0,

(€) 999.0,

(D) ### ###.0,

Correct Answer : B

12). Which of the following Data Category settings is used to map data
to geographic locations in_Power BI? | UTaR BI HelleT HITIfeTeh RIFIGR Sei
HY HRUITTS! Wit Hivrd! e Juft TfTst aroRe Srdrd?

(A) Scope and Longitude (e.g. 47.6080, — 122.3351)

(B) An address (e.g. 1 Microsoft Way, Redmond, WA 98052)

(C) Acity (e.g. London)

(D) A place (e.g. Logan International Airport)

Correct Answer : A
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13). What is the correct formula for shown in the figure? | a3t gy RSEl
HING?

PivotTable Towols

Options Design

(A) =HLOOKUP((A4,A1:F1,2,FALSE)
(B) =VLOOKUP((B4,A1:F1,2, TRUE)
(C) =HLOOKUP((A4,A1:F1,2,TRUE)

(D) =VLOOKUP((A4,A1:F1,2,FALSE)

Correct Answer : A

14). Which date is created by applying the custom date format of
dd/mm/yyyy? | @Wﬁaﬁﬁ%m?ﬂm dd/mm/yyyy T HEH S BIRHC
AN & dAR il cil?

(A) 28 July 2022
(B) 44770
(C) 28-Jul-2022

(D) 28/07/2022

Correct Answer : D

15). Where will you find options to add a border around the outside of

your chart? | THT AT STeXId SIS T SIS U3 Tl Ui $&
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(A) Under the Design tab in the Chart Layout gallery | 1 A3MMI3C TerId feg <o 3fdvid

(B) Under the Format tab in the Shape Styles group | AU wBd Wﬁﬂﬁ WRHE cd

(C) Under the Layout tab in the Background group | Background group Tdfid W33 <a

(D) Under the insert tab | CRNEEA WU’Q&[ qrg et

Correct Answer : B

16). How the sum function of pivot table is changed to that value are
automatically counted and not summed? | fOUegic coad RIS harM

edTd Y daad Sifd o SS9 HiSTel SiTd S0 9 doed ST Alg1?

(A) Insert the COUNT formula (=Count()) into the PivotTable | PivotTable T COUNT
(=Count()) clnl

B) Change the format of the values in the Pivot Table to General Numbers | fUgle
%EIFIT( X gd WY I SHAHE Faal.

(C) In the-Calculations group, change the Summarize Values By to Count | ﬁ?ﬂﬁ"«’ﬁ
YU, TUAHTST T og ARITRIT DR

(D) Change the format of the values in the pivot table to count | AroTugETe! fUeie
cqeHEd Yodid Wy 9l

Correct Answer : C

17). Which type of chart is suitable for single series of data? | STl Uhd
HIUTdT TS Tl 3”%7

(A) Column Chart | HTTH T
(B) Line Chart | g4 dT¢

(C) Pie Chart | UT8 daT¢

(D) Cone Chart | HIF T

Correct Answer : A
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18). Which is a box in the PivotTable Fields List? | {0

foRea ) WIdidUd! HIuTdT ST ATel?

(A) Column Labels | BIaH qda
(B) View | RUl¢ ftheex
(C) Layout | aTegd

(D) Formulas | BTHAN

Correct Answer : A

N (el

Rlccdd Wi
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19). What is the first step for creating a PivotTable? | fUeglc ¢od R

PO Ulgcll UIER| HIordl

3Tg?

(A) Create data that needs to be analyzed

(B) Clicking on the Insert Tab

(C) To choose the correct fields

(D) Clicking on the Home Tab

Correct Answer : A

20). Which option is used to indicate how well the students have done

their exams using colour cells shown in the figure? | CRIZIRIEIE]
gRjard fobdl HIARRT el g SRIGUATRITS! Td Tdl BRI S e el
3{Tea?
A B C D E F
Nams / . ;
, Theory | Emp Skill | Practical | Englrg | W Cal
1 Subject
: mc | 8 [ 2 DB s | 4
30 | % | & NI B | B
4 HDF 13 12 ] 28
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(A) Conditional Formatting (Colour Scales) | HSIEA BIATET (TJTWD

(B) Conditional Formatting (Data Bars) | e IRHd BiH 1 (ScT dR)
(C) Conditional Formatting (Icon Sets) | H ST BIH T (&W@E\ﬂ)
(D) Conditional Formatting (Formatting Rules) | S IRMd BIH T (A T fAaw)

Correct Answer : A

21). How will you change 25-09-2022 00.00.00 Format to 25-09-2022
format in power query shown in the figure? | gleR W‘Eﬁﬂ@ 25-09-
2022 00.00.00 BIRUE 25-09-2022 BRHUCHE DY §GaIlc?

Tabl~1

&
L
H=

Fowercr Thonny Fditor

leartie ranslfzre Add Colurrn iR

L Egrrezcrtics

_— ]
LLTLITTT (5 1 N

[ Cata Typo: Dictcs

| |
H

o= r:-J!.du:nc:c Ecltar - ] Jse First Fon
Dlhiaew e (ELTR N 1 €lhieaaw Hsarrieave Kesj1  Hericive palil Cirainps i e
Loadd = 19 r e, ™ EE rranags Tolurrns T o laans T sowe T Howw, T Tourmn T Ev e RERlazz Wolu
Cloaa ey “wlanaze Colmmns Razires Rows S0t Trans orn
- [Th~ E—_, Mreal s = | A% Mewcpinlien =1 13 Reale -
1 25 55 2oz oneoos BB i
i = o5 om dc23 ocoon '3 Romewse
é =] 3G G BEI2 O E e Oithee Columes |
) 27 0| 2022 Ohooodan Puplicate Colurin
o e B e e o | AT s mn From Frarpies. |
= I8 PP TREEIN C S NA RKomove Duplcatss |
BRomove Enrors |
A Dy e " Clairmial Mormakeey
fravas o i CleT oy
1 Whrale Plurmibe

ra . Beplace Walires. .

A P Fdeal =T
= o By Al - Rils

Fi i
B Urpivor Columins T

- - - - T — L

Llrpivor Cthor Caliumns Jaley Thmes Thmesiines

U pives Cnly Sclectod Colurns Juralicin
= Honamic.. ot

B el Ealse

Lisll Loy ET1 85 TRYS

Podd = £ Noaes b

d"ii\l'_&w =ma Linirng et inles

(A) Date/Time/Zone

(B) Date
(C) Time

(D) Date/Time

Correct Answer : B

F=palace B .

Propie - Ly e
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22). What is the data limit for free Power Bl adoption? | Mhd TR d13
G UGSt gl Haial fodt 3iig?

(A) 512MB/client
(B) 1GB/client
(C) 2GB/client

(D) 3GB/client

Correct Answer : B

23). If C5 contains the fgrm\ula =$B$1+C1, wbat will the formula read if
copied to C62'| €6 IR P4l B A S drad, SR C5 T A =$B$1+C1

qax?
e (| _Feflesd |
. A\ | [ :-—-rdr!
A B c 4 D E
1 a2 8 250 b52
20 150 360 450 41
3V 450 540 652 a4l
4 15 700 125 74
5 58

(A) =$B$1+D2
(B) =$B$2+C2
(C) =$B%$1+C2

(D) =%$B%$2+D2

Correct Answer : C

24). How the result will be C2 in the formula =if(A1=B1, C1, C2) when? |
3 =if(A1=B1, C1, C2) H& C2 URUIH S §lsa?
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(A) AisequaltoB

(B) A1 does not equal to B1
(C) A1+B1is equal to C1

(D) A1-B1is equal to C1

Correct Answer : B

25). How macro can be restricted from running automatically while
starting MS Excel? | THTH Ry RS hdTAT Hob! FaGfIqUul JITUATUYA
DY Yidsfd el S Aehel?

(A) Hold down the SHIFT key during startup | TIE3T ST SHIFT Elﬂ?{lq\:l &dr

(B) Hold down the CTRL key during startup | TTC 3T G- CTRL aﬁﬂﬁﬁ%m

(C) Hold down the ESC key during startup | T¢I G- ESC aﬁ‘c:r{—r%m

(D) Hold down the ALT key during startup | T3 G ALT &1 algd &dl

Correct Answer : A
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NIMI Mock Test

1). Which type of E-commerce companies like Flipkart, Amazon and
Myntra belongs to? | Flipkart, Amazon 3{Tfor Myntra JRTAT HU] CA

S-BIAY [AUTTIAIS 3Med?

(A) B2B
(B) B2C
(C) P2P
(D) C2B

Correct Answer : B

2). What is the full form of EDI? | EDI 91 Bedt th1H ®1T 3Tg?

(A) Electronic Data Interchange
(B) Electronic Direct Interchange
(C) Electronic Data Information

(D) Electronic Data Interconnection

Correct Answer : A

3). Which payment method uses unified payment interface (UPI) for

processing payment? |ﬁﬂ?m
Sy qIuRAl?

(A) Internet Banking |§Eﬁ3§ﬁ37{

(B) BHIM Application | ¥ TRz
(C) Credit Card |ﬁ?ﬁ_§

(D) Mobile Banking | FISTSd Seh

Correct Answer : B
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4). What is full form of PIN? | PIN © 0l U &1 31Tg?

(A) Personal Identification Number
(B) Private Identification Number
(C) Personal Information Number

(D) Private Information Number

Correct Answer : A

5). Which type of E- Commerce business platforms are amazon, ebay? |
éé JehRd @3!%

S EECC]

(A) National | X181
(B) Local | RiTH®

(C) Global| SIRTfd®
(D) Virtual | STHTT

Correct Answer : C

6). Which is the model'in E-commerce, if the sellerand buyer are both

from business firms? | E-S A<l FHIoTT Hled AL fadhdn 3101 WREIGR AT
GIIg! SHTaHIeh hUH! SRIAT?

(A) Consumer to Business | qT8® d a4y

(B) Business to Consumer | AdHY Gl UIRERD
(C) Business to Business | A o sgadra
(D) Consumer to Consumer | UTe P Gl PIRED

Correct Answer : C

7). What is the purpose of OLX web site? | OLX d&dTgcdl 3 BT 31g?
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(A) To upload Files | BI3CH 3T Hd 3T

(B) To buy and sell products | ITGH WYl ATfor faet
(C) To search for Documents | PHIIGU T 3T

(D) To recover files | BISR T Hd 38

Correct Answer : B

8). What is the other name for PDoS? | PDoS qrard QFQ 19 BT 3HTg?

(A) Brute force attack | c B 3ch

(B) Non-technical attack | - P d e
(C) Phlashing | TTRIAT
(D) Smurf attack | 1% 31ch

Correct Answer : C

9). Which type of E - Commerce is a payment Gateway? | UHe ed 81 5-
91 DI TS U 352

(A) b2b
(B) b2c
(@ g2c
(D) g2b

Correct Answer : C

10). Which authen}icates and handles credit card payment fqr E- .
Commerce? | E-HIAUHS JaIaUe! HI0 Uga PTe ¢a® gl

30T JHTOft g d il

(A) Payment gateway | UHe Tied
(B) E - Commerce gateway | -1y Ted
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(C) Software gateway | TTed3R Ticd

(D) E-Wallets | E-dicicd

Correct Answer : A

11). What is the full form of COD in E -Commerce? | E-ShI1AY] HeZ COD dT
Ul fodR &1 31g?

(A) Cash on Delivery

(B) Cash on Demand

(C) Commerce on Delivery

(D) Cart on Delivery

Correct Answer : A

12). Which term refers to paying the money back to the buyer after the
price has been deducted from the account? | AT XdpH Pt
WRd <udrEl 3 B 3Te?

(A) Refund | RS

(B) Return | e+

(C) Deduction | &SR
(D) Charge back | TSl o

Correct Answer : A

13). Which option in E - Commerce helps to keep the selected products
until checkout or payment? | E- 1Y AT ®ivrar gy Hasad SdieH
AH 33T / THC BRUAd SAUIN Hed HRdl?

(A) Basket | SR&C
(B) Cart| T
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14). Which card enables online payments using the available balance in a
bank account? | HIUId PTs S T[T R IqebH IR 3{TTS

UHc S0 R Sd?

(D) CoD

Correct Answer : B

(A) Credit card | 8IC B8
(B) Paypal | UUd
(C) Debit card | Sfoe ®1S
(D) Wallet | diceic

Correct Answer : C

15). Which type of E - Commerce is for tenders and submission of
application? | IV TSR §- 1A HL FHfaar S1foT 319] TaR HdIa?

(A) b2b
(B) b2c
(@) g2c
(D) g92b

Correct Answer : D
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NIMI Mock Test

1). Which term collectively refers to malicious software, such as viruses,
worms and trojans? | BTRY, TR 310 SIS TR RIS
AT d 3R A o ST WUIdld?

(A) Spam | TH

(B) Phishing | TthTRITT

(C) Malware | ATEA3R

(D) Harm |gH

Correct Answer : C

2). Which service is a shared information infrastructure for
administering or?[anizing common items and network resources? |

TR & TI0T T MY}, TR DHRUI, HTRITY B
31O ST 0! TS B0 JaT JIHIIS AR STHRCIRR 3HTe?

(A) Directory server | %iﬂiff &R

(B) Directory services | %ﬁﬂf{ afda

(C) Active Directory | Glecs %iﬂéj

(D) Directory Management | %iﬁ?jﬁeﬁlﬁ?

Correct Answer : B
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3). Which is a periodic assessment of security vulnerability in a
computer system? | HIFeR RIfeH Hefi AP GuIrd Fafira Hremasd
HedlnA J-6UI\TI hIY?

(A) Threat | 9

(B) Attack | 3Ch

(C) Hacking |_€m

(D) Security auditl'\q_clﬂﬁiﬁéﬁ%E’

Correct Answer : D

4). Which method go through all the files or network elements with an
intention to.detect something unusual? PTelax] SAHY N0
gd BIR e fdhdl "edd dedhiHyd UGd STd?

(A) Probing | UIfs=T
(B) Phishing | TRAT
(C) Infecting | S WacaT
(D) Scanning | TP

Correct Answer : D

5). Which offence is considered for tampering with computer source
documents? | S0 Hid GXIUASIHE BeBTS Bedldgd hIUdl YHR]
g1 |-l SIdl?

(A) Bailable | STHHU=

(B) Non-bailable | SSTTH-U

(C) Non-cognizable |  HB USR]

(D) No punishment without law | HTITRIGT B! RI&T A6l

Correct Answer : B
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6). What is the full form of SSL? | SSL d d HIH BT 3187

(A) System Socket Layer
(B) Super User System Login
(C) Secure Socket Layer

(D) Secure System Login

Correct Answer : C

7). Which has unauthorized control or access over the computer
system and destroys the data? | I UTHTAR &Fffﬁ% , JaRI(Access)
D& ST Y HUGN BT FUIATa?

(A) Defamationlaﬂtﬂjﬂ
(B) Carding | &1l
(C) Hacking | 7B

(D) Cyber-stalking | TTsR Wb

Correct Answer : C

8). Which protocol is based on the active directory database? | gicha
ScIaY DI Uieibiaay emd C’rﬂ%

(A) LDAP
(B) TCP
(©) saL

(D) HTTP

Correct Answer : A

9). What is the penalty for destroying computer source code? | ITUI&H
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IAId BIS Y HIUIAHS HI ¢ AHTe?

(A) 3 years imprisonment or Rs.5 lakh or both | I Y. HRIAN fdhaT 4 T8 . fdhar argl

(B) 3 years imprisonment or Rs.1 lakh or both | I qufer eRIaN fdhar § g . fdar

(C) 2 years imprisonment or Rs.2 lakh or both | & 9% HRIEN fdhdl 2 @G 3. fdhar gial
(D) 3 years imprisonment or Rs.2 lakh penalty or both | & qufen FREN fHar 2

[SIECK]

10). How many types of groups are available in active directory? | Uided
U1 I HTea?

Correct Answer : D

(A) 2
(B) 3
€ 4

(D) 5

Correct Answer : A

11). Which is a cybercrime? | WU HIUAT ARISRHH ATG1?

(A) Cyber security | a9 THR
(B) Man in the Middle | FEAUTIY SrEAT AT
(C) Decryption | TSR

(D) AES

Correct Answer : B

Contact - 9370948482, 8055403224, 9325721873
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12). What is the cyclic practice for identifying, classifying and solving
vulnerabilities in a system? | JUMTeltdd Yedl @0l &W%I FiffemRor ®Heul

3TFOT AR i FRTHRUT B0l 6] Th1d Tgd HIUK 3Ta?

(A) Bug protection |am1;h%w=r
(B) Bug bounty | &7 dT3¢<]

o o

(C) Vulnerability measurement | G R[SIC] HoRHe

(D) Vulnerability management | FERIGAd HAHe

Correct Answer : D

13). Which protects data from online attacks, deletions and malwares? |

STdl AR e, FSRM, ATaasR UL WRIEd HRUr U $Ia?

(A) Physical security | m@w
(B) Cyber security | ATIaR IRl
(C) Cyber attack | ¥TIaR 3CH

(D) Virus | ®R”IRY

Correct Answer : B

14). Which is an attempt to steal, spy, damage computer systems or
their associated information? | RN, GRAR] R0, G0k HolTel febl

AR I&fdd Aifgdt WIS HRUITET HI0d] U 38?2

(A) Cyber attack

(B) Computer security

(C) Cryptography
(D) Digital hacking

Correct Answer : A
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15). Which act violates cyber security? | NP ARl R MRS R ER
IRE I HRAl?

(A) Exploit | RISOT
(B) Attack | gl
(C) Threat | qHDT

(D) Vulnerability | ST

Correct Answer : B
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NIMI Mock Test

1%. Identify the correct laaS provider among the following. | NP
laaS YUaldl [Hdsl.

(A) EC2
(B) EC1

(C) EC10
(D) Hybrid

Correct Answer : A

2). What is'Cloud Computing? | FI3S BT EUS HIa?

gA) Providing_ services%l;e[ storage, servers, database, networking | Rﬁﬁ '\‘Ié'\’
: gﬂlél YUald B0l

(B) Storing data in a database | STy g Yfgd Bl
(C) Tool used to create an application | &WWWWWW

(D) Used for creating graphics | TP RT TR HRUGNTS]

Correct Answer : A

3). Which option is considered as cloud? | GTefieden! BT Yaid s s

TEUH U SIS, Qhal?

(A) Hadoop | TY

(B) Intranet|€§'|e|?:'

(C) Web Applications | 98 T
(D) Application |E@I$§F[

Correct Answer : A
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4). Which%a;r)l/ge of cloud computing service? | T TaUD! DIV FASS

?

(A) Service-as-a-Software (SaaS)
(B) Software-and-a-Server (SaaS)
(C) Software-as-a-Service (SaaS)

(D) Software-as-a-Server (SaaS)

Correct Answer : C

5). Which of the following is the correct statement about cloud

computing? | TS S I TaEd WaTade! Iy faU Hivd 3ig?

(A) Abstracts systems by pooling and sharing resources | ®II3S ?JFUQﬁ"T T UH A
B ST WA H=- Rivedd AR g9ad

(B) Nothing more than the Internet | Wm% gax"cUel 3 Hlal Aret

(C) "Cloud” makes refergqce to the two essential concepts | "HKIT3S” el IIUR G
IR Hhed-rar Ge a

%%l)'[ Cloud computing services are accessed by the user after the software | WW%T
dRPYIgR JTHN ¥ d: AT TeRIgHAR e d3R VI B ded Wl sl Siid]

Correct Answer : A

6). Which type of servers does Web hosting based on? | DIUTT YHRA
&H%FFE_CI S HRT?

(A) UNIX, WINDOWS, DOS | UNIX WINDOWS DOS
(B) Dedicated, Shared VPS Hosting | Tftd g% Iri® gif¥eT vps gifke
(C) Web page, Web site, Web browser | 9 U9 a9 NIEE G| SIREIR

(D) Server ,Web server, Webmaster | {-IOGCQ G| {-Icsri AR

Correct Answer : B
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7). What is a main type of resources used in cloud computlng? | T3S
HEETHS IR S0 S T YhR

(A) Static Clouds | €fC® T3S
(B) Public Clouds | HTdSI~® T3S

(C) Dynamic Clouds | SIT-H® T3S

(D) Manual Clouds | HJ3/d T3S

Correct Answer : B

8). Which provides a runtime environment? | RCII NG KU RACIgH
EIRICRYR* GGG

(A) laaS
(B) SaaS
(C) PaaS

(D) XaaS

Correct Answer : C

9). What is the full form of ADLC? | ADLC d JUI &U 1 3Tg?

(A) Application Development Life Cycle
(B) Additional Development In Life Cycle
(C) Application Design Life Cycle

(D) Additional Design Life Cycle

Correct Answer : A

10). What is Debugging? | SIaT IS HT?

_______ (A)-Cteafmg-l?mgramCodelEITﬁ[PH-Ob\LSEIQL{@xLJ\I______________________________________
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(B) Finding and Correcting Errors In The Program Code | uﬁmﬁsmﬂagé’rvﬁﬂﬁ

(C) Identifying The Task To Be Computerized | {-i‘IUchnlqm BT BT g,

(D) Creating The Algorithm | ARG TUR HR0L,

Correct Answer : B

11). Which storage technologies has the best performance? | CININEEHS
HIVIT RS RN PIHTRT FaTH 31757

(A) NAS

(B) SAN

(C) DAS

(D) SAD

Correct Answer : B

12). Which provides the GUI for interaction with the cloud? | Tt eten!
dTe HIYTIRITST GUI TaiH PRal?

(A) Server | H?EET
(B) Client | FIIC
(C) Client Infrastructure | FITUC $3PIRC R

(D) Server Infrastructure | HOE& S PIRCIIR

Correct Answer : C

13). Which type of integration testing uses stubs? | ST Yh R
WL AIRA?

(A) Top down testing | <19 T3 arguft
(B) Bottom up testing | SEIRIEIEL]

Contact - 9370948482, 8055403224, 9325721873
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(C) Both in top down and bottom up testing | Glval €19 |3 3101 dlcH Y Al

(D) System testing | fR%eq Trof

Correct Answer : A

14). What type of computing technology refers to services and
applications that typically run on a distributed network through

virtualized resources? | ®H3HISS RERTGR faaRId Aeddhar araun=r
a1 30T b L=l HaH HIud GebR VDI oI 3MT6?

(A) Distributed Computing | %Ejﬁﬁ%_ém
(B) Cloud Computing | T3S H’T\ILFUQ%T

(C) Soft Computing | It DI

(D) Parallel Computing | SINGY d)TJ-l{J,IrE*I

Correct Answer : B

15). Who is the father of cloud computing? | 43S ﬁm}[%'lﬁ S DIl
?

(A) Sharon B. Codd |‘\§1TT:T§L HIS

(B) Edgar Frank Codd | TSTR W& ®18

(C) J.C.R. Licklider | JCR faseilex

(D) Charles Bachman |E|'Iﬁtfé|%lﬂq

Correct Answer : C

16). What is the full form of RAD in software process? | Wﬁﬁ RAD
T 3R Ufsha

(A) Rapid Application Development
(B) Recent Application Development

(C) Relative Application Development

Contact - 9370948482, 8055403224, 9325721873
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17). Which organization sells or leases memory space on its servers to
provide clients with services to publish websites on the Internet? |
TRIT FARCHAT SeIACaR dGHILC UhIIRId HRUGITS! Hdl U HIUATHS]
AT Ygrasid AUt WY fdevd fdhar Hrea™ aa?

(D) Rapid Application Design

Correct Answer : A

(A) Web Hosting | 99 gifeen

(B) Internet Hosting | SCXAIC IR
(C) Domain Hosting |C=ﬁfltfa'@7[
(D) Server Hosting | TR BIfeeT

Correct Answer : A

18). Which type of web hosting stores multiple websites that run on the
same server? | 9§ BIRCTT A {57 THTT HeXaR THTUET SRd I8 HIZ< BIRE

ol il clic?

(A) Windows Hosting | fdSIoT gIfecT

(B) VPS Hosting | VPS BT
(C) UNIX Hosting | UNIX BIf&T

(D) Shared hosting |Wﬁﬁ'ﬂ

Correct Answer : D

19). Which cloud is hosted operated and managed by a third-party
system owned by organisation selling cloud services?

H3S
FATSS YT [ADH =T ST HIAib AT gaiid-Ual et STor
IRITIUT bl STal?

(A) Public Cloud | Uf&T® TS
(B) Private Cloud | UT®¢ K13 S
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(C) Hybrid Cloud | BTTsIS KIS

(D) Dynamic Cloud | SEHH® &3S

Correct Answer : A

20). What does PaaS stands for? | PaaS =l 3 B 3MTR?

(A) Platform as a Service
(B) Platform as a Software
(C) Parallel as a Service

(D) Parallel as a Software

Correct Answer : A
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NIMI Mock Test

1). Which rim\;;%/e data type include integer? | BIUTAT 3MTf¢H ST YHRId
qpliéﬁ F|13|||)a§ ?

(A) char
(B) byte
(C) array
(D) double

Correct Answer : B

2). Which keyword is used to inherit the ropertles of a class? | CU S|
TUTeH GRYT U IO HIds argRel

(A) Inherit
(B) Poly
(C) Extends

(D) Super

Correct Answer : C

%) \_flv%ch loop declaration is valid? | JU (SHRRTITS! W] HIoTd
Y

(A) For(inti=99;i>=0;i/9)
(B) For(inti=7;i<=77;i+=17)
(C) For(inti+=20;i>=2;--i)

(D) For (String s : stringArray)

Correct Answer : B
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4). Which memory is allocated by Java array? | Java 3NGR DI AR
gTey it Sifd?

(A) Dynamic memory | SIS ATt
(B) Static memory | wile AR

(C) Heap memory | feu awd

(D) Cache memory | g AAY

Correct Answer : C

5). What does an interface contain in Java? | Wﬂ?ﬁ Cag GTIT[%I'Q &ﬂ%’?

(A) Method definition
(B) Method declaration
(C) Method declaration and definition

(D) Method name

Correct Answer : B

6). Which method returns a String that represents the character
sequence in the array specified? | DIV Tgd MGy Baedr s guof
HH SRIGUIRI lﬁaas

(A) Int compareTolgnoreCase(String str)
(B) String concat(String str)
(C) Boolean contentEquals(StringBuffer s)

(D) String.valueOf(char[] data)

Correct Answer : D

7). Which keyword defines an abstract class? | UP! SV HIds &rqﬁaﬁ
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URYINT HIUINTST aTaRa SITdTa?

(A) Abst
(B) abstract
(C) Abstract

(D) abstract class

Correct Answer : B

8). Which entity does a failed method overriding call the method of? |
qYS IV IChHIAT HYS RUI?

(A) superclass
(B) subclass
(C) abstract class

(D) error occur

Correct Answer : A

9). Which is used to interpret and execute Java Applet Classes hosted by
HTML? | HTML R 8¢ el Slal Gacie Farya 3 drquararat for
BAT-ad PRUYTS! Wi leudb! TR SITeT?

(A) Appletviewer
(B) Appletwatcher
(C) Appletshow

(D) Appletscreen

Correct Answer : A
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(B) Strings | @W
(C) Integer | SETOR
(D) Classes | FAEY

Correct Answer : B

11). Which method prints output with formatted numbers? | TR U
TATE 3M3YC HRUGTTST DI0IAT Tgeil?

(A) formatted()

(B) print()
(C) printin()
(D) printf()

Correct Answer : D

12). Interface calculate { void cal(int item); } class display implements
calculate { int x; public void cal(int item) { x = item * item; } } class Main {
public static void main(String argsl[]) { display arr = new display(); arr.x =
0; arr.cal(2); System.out.print(arr.x); } } | Interface calculate { void cal(int
item); } class display implements calculate { int x; public void cal(int item)
{ x = item * item; } } class Main { public static void main(String args[]) {
display arr = new display(); arr.x = 0; arr.cal(2); System.out.print(arr.x); } }

(A) 0
(B) 2
€ 4

(D) Run time error

Correct Answer : C

13). What was the earlier name of Java Programming language? | SITdl
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YIITTET TS gdid AT1d BT §id?
(A) Eclipse
(B) Oak
(©) Netbean

(D) Pycharm

Correct Answer : B

14). Which is a keyword in Java? | TTeaUe! ®lvial SAHAY Hids AR

(A) Transit
(B) Instanceof
(©) Emun

(D) Strict

Correct Answer : B

15). What is the syntax for using continue as a single statement inside
any loop in Java? | HIUTATG! ﬁqﬁ‘éﬁﬁ Ushd {4 IBUMN continue
TR BT 31Tg?

(A) continue;
(B) continue();
(C) loop continue;

(D) skip loop;

Correct Answer : A

l%r Which is a primitive data type? | @Tciiaue! HIvrar iAo Se1 ueR
?
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(B) Enum

(C) String

(D) Int

Correct Answer : D

17). Which process involves one class acquiring the properties (methods

and fields) of another? | HIUTAT Ul AHE T ol g1 a7 OreH (TGl
3M1for W) fesadi?

(A) Overriding
(B) Inheritance
(C) Polymorphism

(D) Abstraction

Correct Answer : B

18). What will be the output of the following Java program? package
pkg; class output { public static void main(String args[]) { StringBuffer s1
= new StringBuffer(”Hello World"); sl.insert(6 , "Good “);
System.out.printin(s1); } } | Wi Java 3T3cYc dII 3 c?
package pkg; class output { public static void main(String args[]) {
StringBuffer s1 = new StringBuffer("Hello World"); sl.insert(6 , "Good "“);
System.out.printin(s1); } }

(A) HelloGoodWorld
(B) HellGoodoWorld
(C) Compilation error

(D) Runtime error

Correct Answer : A
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19). Which method of object class is used to obtain cla\sls\of an object at
run time? | 39 CISHHY 3ffsolacd] FiY [ fdUdTST 3fisolde aeirl
AUD! BV Ugd aTIRl SITdl?

(A) Get()
(B) Void getclass()
(C) Class getclass()

(D) GetObject()

Correct Answer : C

20). Which-is-a flow control statement in Java? | Java e varg g
fae P10 3iTe?

(A) Method
(B) Exit()
(C) Continue

(D) Field

Correct Answer : C

21%. Which method of Object class can clone an object? | 3fisoide FATl

Usd 3ieolde Fld B3 QDb d?

(A) Objectcopy()

(B) Copy()
(C) Object clone()
(D) Cloning()

Correct Answer : C


javascript:void(0)
javascript:void(0)
javascript:void(0)

Page 129

22). Which is the superclass of every class in Java? | U HIvrar i
SICIERINR R CACIE] NERENIN 31'@?

(A) String class
(B) Obiject class
(C) Abstract class

(D) ArraylList class

Correct Answer : B

23). Which package contains abstract keyword? | ITUPT B IUTT UdborHed
3 BIdS 38?2

(A) Java.lang
(B) Java.util
(C) Java.io

(D) Java.system

Correct Answer : A

24). What is an array in Java? | Java T 3R WU B2

(A) Collection of similar type of elements | THIH YHRAT Uk idl AU8

(B) Collection of different type of element | fafde YpR=a1 gchian 94U
(C) Collection of heterogeneous data | fowH Ser Ipaq
(D) Mixed data | i St

Correct Answer : A

25). Which statement can be used to access tl‘\\Jg classes\of a diff\erent
package from the current package? | G&TUT Uh STHYA diTed] Yan ]
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AL YA HIUGTA] DHI0Id A= IR Siid Udhd?

(A) instanceof
(B) import
(C) extends

(D) implement

Correct Answer : B
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1). Which method of object class is used to obtain class oj an object at
run time? | 39 T3 3fsolacdl iy [HsfUdTST 3fisolde aelira]

YIB! BV Ugd dTURTT SITd?

(A) Get()
(B) Void getclass()
(C) Class getclass()

(D) GetObject()

Correct Answer : C

2). Which kind of language java is? | S[d] PHIUTT Yh Rt HIST 312

(A) Object Oriented | 3ol sﬁﬁ@‘s
(B) Procedural | TSR

(C) Event Driven | S&C fﬁ%—"f

(D) Functional |5W-‘ZF|F‘[

Correct Answer : A

3). Which class inherits the properties of the other? | A GICUERRE!]
TUTeH T IRET Yadl?

(A) Superclass
(B) Parent class
(C) Subclass

(D) Class

Correct Answer : C

4). In below java code, whose “Car” will be called? class Father { public
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Father { public void car() { System.out.printin("Son’s Car”); } } public
class Sample { public static void main(String[] args) { Soniohn = new
Son(); john.car(); } } | Qe ST HIeH , I "HR” | \_rﬂgﬂ? class
Father { public void car() { System.out.printin(“Father’s Car”); } } class
Son extends Father { public void car() { System.out.printin(“Son’s Car");
} } public class Sample { public static void main(String[] args) { Son john
= new Son(); john.car(); } }

(A) Father’'s Car
(B) Son’s Car
(C) There is an ambiguity, so no one Car

(D) Compiler Error

Correct Answer : B

5). What will be the output of the following Java program? package
pkg; class output { public static void main(String args[]) { StringBuffer
s1 = new-StringBuffer("Hello World"”); sl.insert(6 , “Good ");
System.out.printin(s1); } } | WA Java URITHG 3M3CYC BRI 3ci?
package pkg; class output { public static void main(String argsf]) {
StringBuffer s1 = new StringBuffer("Hello World"); sl.insert(6 , “Good
"); System.out.printin(s1); } }

(A) HelloGoodWorld
(B) HellGoodoWorld
(C) Compilation error

(D) Runtime error

Correct Answer : A

6). Which is an abstract? | gTUD! BT &I'&?f'_-lﬁ?

(A) Thread Class
(B) Abstract List Class

(C) Concrete Class
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7). What does an interface contain in Java? | EETWT[%@[W 1Ay
?

(D) Method

Correct Answer : B

(A) Method definition
(B) Method declaration
(C) Method declaration and definition

(D) Method name

Correct Answer : B

8). Which loop causes the break statement to exit from the loop? |
UHed S W JUAYH Sl USd?

(A) Innermost
(B) Outermost
(C) Switch

(D) Depends on program

Correct Answer : A

9). Which primitive data type include integer? | DI 3MfeH Sel
PRI guIl ?

(A) char
(B) byte
(C) array
(D) double
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Correct Answer : B

10). What is the output of the below Java program with Method
Overriding? class Sparrow{ } class BigSparrow extends Sparrow { } class
Cat2 { Sparrow jumpingHeight(int weight) { System.out.printin(40);
return new Sparrow(); } } class WildCat2 extends Cat2 { BigSparrow
jumpingHeight(int weight) { System.out.println(“50"); return new
BigSparrow(); } } public class MethodOverriding4 { public static void
main(String[] args) { WildCat2 wc = new WildCat2();
wc.jumpingHeight(80); } } | AYS @%WE’%"N’G’ WTdid Java TUTHD
3T3cYc Iy ? class Sparrow{ } class BigSparrow extends Sparrow { }
class Cat2 { Sparrow jumpingHeight(int weight) {
System.out.println(40); return new Sparrow(); } } class WildCat2 extends
Cat2 { BigSparrow jumpingHeight(int weight) {
System.out.printIn(“50"); return new BigSparrow(); } } public class
MethodOverriding4 { public static void main(String[] args) { WildCat2
wc = new WildCat2(); wc.jumpingHeight(80); } }

(A) 40
(B) 50
(©) 80

(D) Compiler error

Correct Answer : B

11). Which kcelz_é_word defines packages in Java? | ISP DIV HIaS Java
A Uboid YRHTNT HRUGRITST dToRl SiTdl?

(A) pkg
(B) Pkg
(C) package

(D) Package

Correct Answer : C
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12). What does defaglt,r\publi.c, rotected and private refer to in Java? |
Java HE Slthice, HTduli-db, TRI&d 0T WISHil TS H1a?

(A) Access Modifier | Qﬂ'\ﬂﬂ HISIHTOR
(B) Non-access Modifiers | I Qﬂ@ﬂ AlSIBRR
(C) Constant

(D) It is variable | d URad-1a 31T

Correct Answer : A

13). What is an array in Java? | Java T 3R US| HI?

(A) Collection of similar type of elements | SHIH Y R<AT YcHIdl AUS
(B) Collection of different type of element | fafay U R=ar gedhian 9ug
(C) Collection of heterogeneous data | fqyn Sera SdhaH

(D) Mixed data | fH%@ Se1

Correct Answer : A

14). Which entity does a failgd method overriding call the method of? |
S HYS HIGWRIS ST DIV IehTdl HUS TBUldld?

(A) superclass
(B) subclass
(C) abstract class

(D) error occur

Correct Answer : A

15). Which is the superclass of every class in Java? | U HIvTar ai
SICIERINR R CACIE] NERENIE \’rﬂ%?
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(A) String class

(B) Object class
(C) Abstract class

(D) Arraylist class

Correct Answer : B

16). What is the syntax for using continue as a single statement inside
any loop in Java? | CALURIE] @ﬂ%ﬁﬁ Uhd [aU U continue d
JIRRTT D1 3e?

(A) continue;
(B) continue();
(C) loop continue;

(D) skip loop;

Correct Answer : A

17). What will be the return type g\f a method that not returns any
value? | DIUIds! Ged 7 SUMIT UG dT URATdT UhR H1d S18a?

(A) void
(B) Int
(C) double

(D) float
Correct Answer : A

o\

18). Which keyword prevents inheritance of a class? | GRIE sﬂéleér{-l

CUCL IR I PHIUd Dlds IR SIS, hdid?

(A) Super | WX
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(C) Class | oI

(D) Final | BT

Correct Answer : D

19). Which of the following is the correct expression that is true if the
number x is between 1 and 100 or the number is negative? | x B T 1

30T 100 =0T SXHI 34 fohdl §&T fiifee 38d dx CALG]]
I TFIURH I HHd?

(A) ((x <100) && (x > 1)) && (x < 0)
(B) ((x < 100) && (x> 1)) || (x < 0)
(€©) (1>x>100)]| (x <0)

(D) 1<x<100||x<0

Correct Answer : B

20). Which keyword is used to inherit the properties of a class? | CUIE]
Wﬂﬁ dixdl +e U1 p[Vidl nlds dluxal STdr?

(A) Inherit
(B) Poly
(C) Extends

(D) Super

Correct Answer : C

21). Which of the following is used to declare, construct, and initialize
an array? | 31X HIfYd HRUATAIS], TUR HRUFRTST SO SRY BRI
HIUTAT ITURE SITdl?

(A) intarr[][]=1{1,2, 3,4}

(B) int[]arr=(1,2,3);
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(Q) int[larr={};

(D) intarr[] ={1, 2, 3};

Correct Answer : D

22). What is the output of this program? class Main { public static void
main(String args[]) { double varl = 2 + 4; double var2 = var1/ 4; int
var3 = 2 + 4, int var4 = var3 / 4; System.out.print(var2 + “ " + var4); } }
| a1 PIZIEE 3T3cYc v 3Te? class Main { public static void main(String
args[]) { double varl = 2 + 4; double var2 = varl1 / 4; int var3 = 2 + 4;
int var4 = var3 / 4; System.out.print(var2 + “ “ + var4); } }

(A) 01

B) 11

() 151
(D) 1.51.0

Correct Answer : C

23). Which memory is allocated by Java array? | Java RGN DI AR
qrey el Sild?

(A) Dynamic memory | SIS A
(B) Static memory | Wb THRL

(C) Heap memory | fRu audt
(D) Cache memory | HT AAY

Correct Answer : C

24). Which option is best for generating random integer 0 or 1?
gqIefws® ulids 0 fdhdT 1 TR HRUTMNIS! pI ﬂalhq

3M8?

(A) (int)Math.random()
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(B) (int)Math.random()+1

(C) (int)(Math.random()+0.5)

(D) (int)(Math.random()+0.2)

Correct Answer : C

25). Which is the correct way of importing an entire package ‘pkg'? |
Iquf U pkg’ &mmm@ﬁﬁﬂﬁaﬁuﬁmrrﬁﬁ%m 3187

(A) import pkg.

(B) Import pkg.
(C) import pkg.*
(D) Import pkg.*

Correct Answer : C
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